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Prep 3 final revision

FIRST: ALGEBRA

Choose the correct answer:

1)

x+2 x—5 g
, N, (x) =—— , then the commen domain of the
x—1 x+3

two functionn; and n, is .........
(R—{1,-2} or R—{-3,5ho0orR or R—{1,-3})

If: ny (x) =

2)

The set of zeroes of the function f where f (x).=2 x4is .........
({0} or R={0} or R — {2} or R)

3)

If (21 1) is a solution of the equation: 2x+ ay= 0, thena =
(2 or 6 or 1 or 3)

4)

If A and B are two mutually-exclusive.events, then P (A N B) =
(1or00r®or%)

5)

The point of intersectionof the two straight lines which equations
areX + y=3and X—y=1is
((1,2) or (4,—1) or (2,1) or (5,-2))

6)

If A and B are two events from the sample space of a random

(zero or 0.2 or 0.7 or 0.5)

7)

If the sum of two positive numbers is 9 and their product is 8, then
the.two numbers are
(2,7 or 3,6 or 4,5 or 1,8)

8)

The S.S. of the two equations: x + y =0,x— 2 =0in R X Ris
{(0,2)} or {(2,2)} or {(-2,2)} or {(2,-2)}
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9)

If a regular dice is rolled once then the probability of getting an
even number equal ........

3or 1 or £ or 2
(3 or orzorg)

10)

The simplest form of the function f where:

f(x):2xi+x

andx =0 .......
(Bx or 2x*+1 or ¥*+1 or 2x+1)

11)

1 S
If: p (A) - 5, thal’] p (A): .............

(lorzo 1 1)
[ —{or or —
3 3 2

12)

. . 1 ,
If the domain of the function: n (X)'= - % ISR —{0,4},

x x+Db
thanb =
(0O or 4 or =4 or 3)

13)

1
If A and B are mutually exclusive'events and if P (A) = 3

7
P(AUB):E,thenP(B): ............

14)

The set-of zeroes. of fwhere: f (x) = —-3x s ........
({0} or {=3} or {-3,0} or R)

15)

If'A and B are two events from S where B c A, then

P(AAQB) =y
(zero or P(B) or P(A) or P(A-B)

16)

The solution set of the two equations: x+3y=4,3y+x=1

IS ...
{(3,1)} or {(1,3)} or @ or {(1,0)}

17)

If: P (A) = P (A), than P (A) =

1 1
(zero or 1 or 5 or 5)

ooooooooooooo
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18)

X .
IS...........
x2+49

(R or R—{3} or R—{-3} or R—{3,-3})

The domain of the functionn: n (x) =

19)

3
If: n (x) = —— and the domain of the function is R —{-2} ,
x+1

than l — e,
(-2 or 3 or.2 or —3)

20)

If A is an event of the sample space of a randem experiment.and
P (A) =P (A), then P (A) —

1
(1 or. zero or 5 or D)

21)

The number of the solutions of the'two equations:
X—2y=2and3X— 6y = 61S...0.....
(17or 2 or 3 or aninfinite)

22)

If: X = 3 is a root of the equation: x? 4+ mx =3, thenm=

(—1 or —2 or 2 or1l)

23)

If Aand b are twoevents;,AcB,P(ANB) =
(zero or P(A) or P(B) or P(AUB))

24)

=3
If:n (%) = % , then the domain of n “1(x) = -~

(R or R—{-3} or R—{3} or R—{3,-3})

25)

The setiof zeroes of the functionf : f (x) =

({—2} or {2,3} or {2,-2} or {2,-2,3})

26)

The ordered pair which satisfy the two equations:

(1,2 or (2,1) or (1,1) or (3,1)

ooooooooooooo
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27)

5-—
The simplest form of the function f : f (x) = —5 X #5I1S..........

(5 or 0 or —1 or 1)

28)

If A and B are two events, P (A) = P (A), then P (A) = -~

1 1
(0 or Eorlorz)

29)

The common domain of functions: f1 (x)—— f2(x) = 2+4
1S
(R or R—{1} or R—{1,2} or R—{1,2,-2})
30) |f3P(A):§,P(B):%,P(AHB)Zg,thenP(AuB): ............

5 1 1 1
(= or = or = or =)
6 3 2 4

31)

If: P (A) = P (A), then P (A) =

(zero or - or % or 1)

32)

S"Illli"lls; I<— ............ J llla ellllllllle

33)

The set of zeros of.f where f (x) =x> —6x+9 s ..........
(R or {2,3} or {zero} or {3})

34)

The point of intersection of the two straight lines:
3x4+5y=0,5x—-3y=0is........
((0,0) or (—3,5) or (3,5 or (=5,3))

35)

If A B are two events in sample space of random experiment and
P(A)- P(B)—— P(AUB)- , then .........

BCA or Bcomplement A
A, B mutually exclusive or A CB.

oooooooooooooo

01010354592 1

M




SERIES || ALSHAMEKH } AT MATH

v

So

36)

The two numbers whose sum 7 and their product 12 are ........
(2,5 or 3,4 or 2,6 or 1,6)

37)

If A and B are two events of the sample space of a random

experiment and if P (A) =0.7,P (A —B) =0.5,thenP (AN B) =~
(0.2 or 05 or 0.7 or 0.3)

38)

If A and B are two mutually exclusive events from a sample space,
then P (AN B) =
(% or 1 or zero or 3)

39)

. . x ¥y
If the algebraic fractionn : n (x) = 7 hasa multiplicative

inverse, then the domain of n (Xx)ds........\
(R or R= {0} or. R—{2} or R—{0,2})

40)

The S.S. of the two equations;: X —y=0and X y=4in R X RIs ....

{(0,0)} or {(2,2)}
{(-2,-2)} or {(2,2),(-2,-2}

41)

42)

-5 -4
The set of zerosiof the function fwhere: f (x) = x > =)
x“+ 16
({5,4} or {5} or {4,—-4} or R—{4,—-4)})
X —5
If : x ¢ 5, then = e
5-x

(1 or —1 or zero or 5)

43)

The'ecommen domain of the two fractions:
3
n (x) = gand N2 (x) = —is ...
(R—{0,3} or R—{3} or R—{0} or R)

44)

The S.S.in R X R of the two equations: X +3y=4and X +3y=1

{(1,3)} or {(0,0)} or @ or {(4,1)}

ooooooooooooo
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45)

-1
n(x) = X has multiplicative inverse in the domain ........
X
(R—{0} or R—{1} or R—{0,1} or {0,1})

46)

One of the solutions for the equation: 2 x-y = 1is.........
(2,1) or (1,2) or (2,3)wor (0,0)

A7)

If the regular coin is tossed once, then the probability ofgetting
head and tail together equal .........
(0% or 25% or 50% or 100%o)

48)

IfACB,thenP(ANB)=""
(0 or. PR(A) or P(B) or P(NB)

49)

The simplest form of the function.n:

x3—x

n(x): ,X¢0isn(x): ...........

2

% or x2—1 or x2—x or x3-1)

50)

The domain of the function f : f(Xx) = ::2 )

{=2,2¥ or R—{2} or R—{-2} or R—{-2,2}

51)

If Z(f)= {2} and £(x) = x> + m, then m = -~
(—8 or 8 or 2 or -2)

52)

One.of the solutions for the two equation: x- y=3,xy=4is.........
(1,4 or(2,-1) or (4,1 or (1,-2

53)

The S.S.in R X R of the two equations: y —3=0and x+ y =0

{3,3} or {(-3,3)} or {(3,0)} or {(0,3)}

ooooooooooooo

01010354592 1

E

|
q

s

o
o ‘
o
5
o ‘
So
5
o ‘
So
5
o ‘
So
5
o ‘
5
5
o ‘
5
5
o ‘
o
5
o ‘
5
5
o ‘
o
5
o ‘
So
5
o ‘
5
o ‘
5
o ‘
5
o ‘
5
o ‘
5
So

E
|
q
&
D°o‘
|
q
&
D°o‘
|
q
&
go‘
|
J
&
|
q
&
|
q
&
|
q
&
|
q
&
|
q
&
|
q
&
|
q
&
|
J
&
|
J
&
|
J
&
|
J
&
|
q
&
|
q
&
|
q
&
|
q
&

o
%

]




SERIES || ALSHAMEKH } AT MATH

v

So

54)

If A and B are two events in the sample space of a random
experiment and P (A) =0.7, P (ANB) = 0.2, then P(A—B) =
(0.5 or 09 or 0.7 or 0.2

-5 -
) if:n (x) == >, then the domain of n Lo
X
{2,5} or R—{2} or R—45} or R—{2,5}
56) | The solution set of the two equations : x - y =0, x y =9.is ........

{(=3,3)} ,ornd(3,3),(-3,-3)}
1(0,0)} for {(3,-3)}

57)

+ 7
The set of zeros of the function f iR where :f(X) = z 1 IS v

{=7} or {—4} or R or 0)

58)

If the probability that one student succeeds in mathematics exam =
0.6 then the probability that he fails invit equal = -
(1 or 0 or 0.4 or 0.6)

59)

The S.S. in of thetwo equationsix+ y =0,y =4 in R X Rs........
{(4,4)} or {(0,4)} or {(-4.4)} or {4,—4)}

60)

The two straightlines: x+ 3 = 0,y = 4 are intersected in
......... quadrant.
(third or fourth or first or second)

1)

(awFind.: n(x) in its simplest form showing the domain of n
3x—4 2x+6

+
x2-5x+6 x2+x-6

where: n(x) =

(b) Find algebraically the S.S. in R X R of the two equations:
x—3y=6and2x+ y=5

oooooooooooooo
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2)

(a) Find the solution set in R of the equation :
x> — 5 x + 3 = 0 approximating the roots to the nearest tenth.

(b) The perimeter of a rectangle is 14 cm. and its area 12 cm.?

Find each of its two dimensions.

3)

x2 +x+1 x3 -1

(@) If:n (x) = 29 T2 _ax:

simplest form showing the domain of n.

5 - then find n (X)in its

(b)Find in R x R the solution set of the two .equations:

x+y=3andxy +y*>=6

4)

(a) If A and B are two events frem the sample space of a random
experiment,, P (A)=0.7,P (B) =04 and P (AN B) =0.2, then find
(1) P (4) (2) P (AUB,)

(b) Graph the quadratie,functien f where f

(x) = X% _4x+3 , X0€ [—1, 5] , then from the graph deduce :
1)The coordinates of the vertex of the curve.

2) The minimum value of the function.

8) The S.S.in R of the equation : X% _4x+3=0

5)

(@) Find algebraically the S.S. of the two equations:
2x=y+3=0andx+2y+4=0inRXR

(b).The difference between two numbers is 5 and the product of
them is 36 find the two numbers.

oooooooooooooo
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6)

(a) If A and B are two events in the sample space of a random
experimentand P (A)=0.6,P(B)=03,P(ANB)=0.2, then
find: 1P (AUB) 2) P (A-B)

(b) Simplify to its simplest form showing the domain of'n.where :

0 (x) = 12

7)

—2x x2-4
(a) Find the S.S. of the two equations :
3X+4y=24dand X —2y =-2inRXR

(b) Find by using the general formula the solution set of the

equation:3x*> —6x+1=0

8)

(@) Find : n (x) in the simplest form showing the domain where :
x2 — 3 x+2 x-—2
n (%) = ~49 Tuxw7

(b) Graph the function f: f (x) = x?—-1taking x € [-2,2]and
from the graph.deduce.:
1) The coordinates of the vertex of the curve.

2)The minimum or maximum value of the function.
3)T he two roots of the equation f (x) =

9)

(a) Find the S.S. of the equation : X>’-2x —4 =0in R
approximating the result to the nearest tenth.

(b) Find n(x) in the simplest from showing the domain of n where:

oooooooooooooo
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10)

(a)Find graphically, then verify algebraically the S.S. in R X R to
the equations: y=x+4andx+y=4

(b) Put in the simplest form with determining the domain of the

2 2
x“ -4 xX“—-2x
— then, find ny(1
x24+3x+42 x2-x-2 (1)

function n: n (x) =

11)

(@) 12 cards numbered from 1 to 12, if a card is picked randomly,
what's the probability of getting an odd number divisible by 3

(b) Find algebraically the solution set of the.twoequations:
y—x=2,x>+xy—4=0

12)

(a) Represent graphically the function fi: fu(lx) = 4 — x% on the
interval [—3, 3] and from the drawing.deduce the :

1) Roots of the equation : f (x) = 0

2) Equation of symmetric axis.

(b) A rectangle with.a length more than its width by 4 cm. If the
perimeter of the rectangle is 28:cm. , find area of the rectangle.

13)

(a) Find in R R the S.S. of the two equations :
y—x=3and"x* =2x+3y=15

2
x“—-2x+1 X —
b) If: n(X).= -
(b) () x3 -1 x2+x+1

simplest form showing the domain of n

, then find n (x) in the

14)

(a) Find thewsolution set of the equation by using the general rule
rounding the result to the nearest two decimal digits :

3x2 —5x+1=0

(b) A rectangle whose length is greater than its width by 3 cm., if
twice its length is smaller than four times its width by 2 cm., find
length and width of the rectangle.

ooooooooooooo
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15)

(a) Find the solution set of the two equations:
2x-y = 3,x + 3y = 5algebraically

(b) Find n (x) in the simplest form showing its domain where :
2x+6 3x — 4
n (x) =

x2 + x—-6 x2-5x+6

16)

(a) Represent graphically the function : f (x) = x?+ 3,, where
x € [—3, 3] and from the drawing deduce :

1) The S.S. of the equation f (x) = 0

2) The equation of the symmetry axis.

(b) If A and B are two events of a sample,space of a random

experiment and P (A) = g ,P(B)= % +P (AUB) :g
Find : P (AN B)

17) | (a) Find n (x) in the simplest formishowing the domain of n where:
n(x) = B Cil. then find n (- 1) if possible

o x243x+2 0 x2Ex-2° ! (- 1) IF possible.

(b) Two acute angles in airight-angled triangle, the difference
between their measure 409, find the measure of each angle.

18) | (a) Find the'S.S.ef the two equations :

x+y=7andx? +y2:25in]R><]R

(b) Find the solution set of the equation (using formula) to:
x (x.+ 2) = 1, rounding the results to two decimal places.

19)

(&) Find the solution set for each pair of the following two equations
algebraically or graphically :
x=2y=0and2x—-y=3

(b) Find n (x) in the simplest form showing the domain of n where:

3 2x

n (x) T 12x2-3 4 x2-2

. then find n (0) if possible.

oooooooooooooo
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20)

(a) A bag contains 20 identical card numbered from 1 to 20 a card
Is randomly drawn.

Find the probability that number on the card is :

(1) divisible by 3 (2) an odd and divisible by 5

(b) Draw the graphical form of the function f where_:

fx) = x% — 2 x — 3 in the interval [—2, 4]and from the
drawing find:

1) The vertex of the curve.

2)The maximum value or the minimum value of the function.

3)The two roots of the equation f (x)=0

21)

(a) Find graphically or algebraically the S:S. of the two equations :
xX+y=42x—y=2InRXR

(b) The sum of two integers is 9:and the differance between their
squares is 27 find the two numbers.

22)

(a) Find the function n inits simplest:iform showing its domain
x2~5x

x2-4x-5

(b) Find the S.S: oftwo equations : x —y = 1, x%+ y2 =13

-1
where: n(x) = x’;_1+

23)

(a) Using formulafind'SS. of : x> —4x + 1 = 0, approximated
to two decimals.
x2<2x+4 x%2-x-2

(b) 1f.: (). = s T 2 2
Put.n(x) in'the simplest form showing its domain.

24)

(@) A'box contains 20 symmetrical balls , 8 red 7 white and the rest
is green one ball was drawn randomlly find probability that it was.
1) Red 2) White or green 3) Not white

(b) Draw the graph of function f where f (x)xz —4x+3,x€[0,4]
From the graph find : 1) The maximum or minimum value

2) The S.S. of X2 — 4 x + 3 =0

ooooooooooooo
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25)

2 2

x< -1 X< —
a)lf:n(x) = -

(a) () x2+3x+2 x2+2x

simplest from showing the domain of n

, then find n (x) in the

(b) Find in R X R graphically and algebraically the S.S."ef the two
equations:y=x + landy = 2x — 1

26)

(a) A rectangle is with a length more that its width by 2 em. Ifthe
perimeter of the rectangle is 32cm. Find the area ofithe rectangle.

(b) If A and B are two events of the sample'space of arrandom
experiment , P (A) = 0.5 and P(A U B) =0:8 and P.(B) = x ,then find
the value of x if :

)P (AN B)=0.1 2)A C'B

27)

(a) Graph the function fawhere< f (X) = x*—4x + 3, onthe
interval [- 1, 5] and fromithe graph find :
1)The minimum value. of the function.

2)The equation.of the axis of symmetry.
3)The S.S. of the equation'f (X) = 0

(b) Rind. The S.S."of the equation :
3x?="5 x'= 1 approximating the result to the nearest two decimal
digits:

28)

(@xFind.in R X R the S.S. of the two equations :
y=x=2andx’+xy—-4=0

(b) Find n (x) in the simplest form showing the domain of n :
0 (%) = 3 x-15 x? -3 x-18
"~ x2-8x+15 9 — x2

oooooooooooooo
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29)

(@) Find n (x) in the simplest form showing the domain of n where:

_ X
n(x) = x2+2x 4- x
(b) A rectangle whose diagonal length 5 cm. and perimeter 14 cm.
find its two dimensions.

x—2

> then find : n (-2) if possible.

30) | (a) Find n (x) in the simplest from identifying the domain_, where :
x>-49 x+7
n (%) = x3-8  x-2
(b) Find the solution set for the two equatiensix <=y =0,xy =9
31) | (a) Find graphically or algebraically the S.S. in Rix Roof the two
equation: 2x+y=1,x+2y=5

(b) Find the solution set of : x> — x.=.4 , using'the general rule.
Given that V17 =4.12

32)

(a) Draw the graphical representation of the function f where :
f(x) = x*— 2 x in the interval [+1 , 3] and from the drawing find
the roots of the equation f(x) =0

(b) If A and Baretwoevents in sample space of a random

experiment where P (A) = % , P(B) = % ,P(AUB)= >

8
Findy; P(Ayand P\ A N B)

33)

(@yFindn (x).in the simplest form determining the domain of n

2 2
x“—-2x+4 X< —x—2
where :%n (x) = s T 22

(b)"A rectangle whose length exceeds width by 4 cm. , if the

perimeter of the triangle is 28 cm. Find its area.
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34)

(a) Find in R x R the S.S. of the two equations :
x—2y =4and3x+ y=>5
(b) Find the solution set for the two equations :

x=y+2,x2+xy:O

35)

(a) Find the solution set of the equations : x?

result to one decimal digit.
(b) Find n (x) in the simplest form identifyingdts demain where :
8 x2+2x+4
n(x)_x2+x 6  x-3

+ x =3 rounding the

36)

(a) Represent graphically the function f.where:
f (x) = (x —2)? x € Rwhere x €[—1,5] and from the drawing
find the roots of the equation £ (x)' =0

(b) If A and B are two eventsifrom a sample space of a random
experimentand P (A) =0.5,.P.(A.UB)=0.9and P (B) = X, then

find the value of X 1f A.and B are mutually exclusive events.

37)

(a) Find n (X)dn the'simplest form showing the domain of n :

x2+2x-3 R x% -1
n (x) = X430 x+1
(b) Find:the. S.S. of the two equations : y —x =2 , x’+xy—4 =0
inR X R

38)

(a) A‘lnumber formed from two digits their sum is 11 and twice the

units,digit exceeds three times the tens digit by 2 find the number.

(b) Find the solution set of the equation : x?—4x+1=0inR

rounding the result to two decimal place.
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39)

(a) Find n (X) in the simplest form identifying the domain , where :
X x—2

n (x) = x2+2x+x2—4

(b) Find the solution set of the two equations :

x+y=7,5x—y=5

40)

(a) A bag contains 20 identical cards numbered from'd to.20, a
card is randomly drawn , find the probability that the numberuis :
1) divisibly by 5 2) divisibly by both numbers 5.or 7

(b) Represent the quadratic function f.(x) = x% - 4 graphically
in the interval [-2 , 2] and from the graph.find :
1)The minimum or maximum valueef the function.

2)The set of zeros of the function.f

MR. AHMED SHAMEKH 16
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The answer
10 R-{1.-3) 2) {0} 3) 2
4) 0 5) (2,1) 6) 0.7
7) 1,8 8) {(2,-2)} 9) 1
2
10) 2x + 1 11) z 12) — 4
3
13) 1 14) (0] 15) P (B)
4
16) @ 17) 1 18) R
2
19) 2 20) 1 21) an infinite
2
22) ~2 23) P (A) 24) | R—(3,-3}
25) {—2} 26) (2,1} 27) -1
28) 1 29) R-(1) 30) 5
2 6
31) 1 32) 12 33) (3)
2
34) (0,0) 35) A, B mutually 36) 3,4
exclusive
37) 0.2 38) ZERO 39) R - {2]
40) | ((2,2),(-2,-2) |41) (5,4) 42) -1
43) R— {0} 44) o 45) | R-(0,1]
46) (2,3) 47) 0 % 48) P (A)
49) x—1 50) R-{-2,2) 51) -8
52) (4,1) 53)| ((-3.,3)] 54) 0.5
55) R-{2,5} 56)| {(3.3).(-3.-3)] | 57) {-7)
58) 0.4 59) {((—4,4)] 60) second

MR AHMEDSHAMEKHW -
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2{xe3)
[F=2)( x43)

-4
D@ =r5ngt

~thedomainofn=R-{3,2,-3}

FTE—4 2
A(x)= (r=3)(x~-2)

=g

_ Ix-442%-6_  S¥-10
T (x-3(x-2) (x-3)}({x-2)

_ B(x-31) _ s
T lx=Nr-2 x-3

(b)x—=3y=06 (1)

LX+y=>5 je bx+3y=15 (2)

LAdding (1)and (2): 2+ 7x =21
s~ x =3, substituting in (1)
~3-3y=6 ~=3y=3
Ay==1

~theSS ={(3.-1)]

T +x+1 (xr=1){xF +x+1)
NE) O =t ooy

»Thedomainofn=R—-[3,-3,1)

xTex4l

(x=3Hx+3)

[x=1){x=3)
(x=1}x2+x+1)

nx)=

Sk
T X443
(b~ xy+yi=06

X y=3

.'.y=2

sy(x+y)=
~3y=6
ax=1

»TheSS.={(1.2))

MR. AHMED SHAMEKH

|| ALSHAMEKH |- ATMATH |

2)(a) *x*-5x+3=0

~a=1,b==5andc=3
_ 54{=-5F-4x 123

o =

FE. 4|

ax=43 or x=0.7

s |.'|1E' Srgr = {413 i ﬂ‘?-}

(b) Let the length be x cm. and the

width be y cm.

<2 (x+y)=14 LX+y=T
ax=7-y (1)
cxy =12, substituting by (1)
L(7T=-yvIy=12 2 0y-y==12

Ay -7y+12=0
~(y-3)(y-4)=0
sy=3,from(1):~x=4
ory=4,from(1):~x=13
+ The two dimensions are 3 ¢m.

and 4 cm.

18 01010354592
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@) PA) =1 ~P(A) =1 -0.7 =03
(2) PIAUB) = P{A)+P(B) - PlANB)

- ﬂl?"'“i"‘ - H-E = u-g

B f(x) =x*-4x+3
X|-1 |0 1 2 3
y |8 3 0 -1 (0 3 a

als
n

From the graph:
- The vertex point is (2, - 1)

- The minimum value = - 1

The §.5. of the equation: x* —4x+3 =10

is {1,3)}

MR. AHMED SHAMEKH

@E2Xx-y=-3 (1) x+2y=-4
le.2x+4dy=-8 (2)
Subtracting (1) from (2) : ~5y=-5
S y = - | Subtracting in (1)

SX =2 ~Thess.=4(-2.-1)}

(b) Let the two numbers be x and y where x > y

LX-y=5 le.X=3+Y (1)

X y=36, from (1):

SB+y)y=136 S5y+y =36

syt + 5y -36=0 Sy+9)(vy-4=0

Sy =-8%and hence x = - 4

ory =4 and hence x =9

6) (a)(1) P (A URB) =P (A) = P(B) - P(ANB)
=06+03-02=07
(2) P(A-B) =P(A)-PFANB)
=06-0.2=04

1x 12
(b) n(x) = x{x-2) . (x=-2)(x+2)

& The domainofn=R -0, 2, -2}

3 12
-2 (x-2){x+2)

.n|[;|r]|=Jr

= Ax46=12 . Ax=5h
(x—2¥x+2) (x—2Hx+2)

x-2) _ 3
(x=2)x+2) X+

19 01010354592
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(x-2Hx-1)  x-2

7i(a)3x+4y=24 (1) 8)(@) n(x)= (x=THx47)  x47
nXx-2y=-2 iel2x-4y=-4 (2) & Thedomainofn=R -{7,-7, Z)
— - . o _ [x-2)x=1) [x+7)
CAdding (1) and (2): ~5x=20 ~x=4 Mlx)= nan ™ e
, Substituting in (1) : &~ y = 3 n(x)==
~TheSS. = [(4,3)) (b) f (x) = x*-1i
(b)~3x-6x+1=0 x|-2 |-1 |0 |1 2
~a=3,b=-6andc=1 y |3 D ¥=1 |0 3
=t.t,,-*[—m=—u:u-c1 =ﬁ:-ﬂi

Zx3 [

A Xx=182 or x=0.18
s The 8.5.= | 1.B2,0.18)
9N(a)»x2-2x-4=0

sa=1,b=-2andc=-4 ol
2424 xix-4 2420 . _ i
X = e _— (1) The vertex point= (0,- 1)
Ax=32 or x=-12 (2) The minimum value =- 1
42The8S. =4{32,-12) (3) The two roots of the equation :
_ X4x#l x{x=1) : = 3
) a(x)=—% e F(x) =0are~-1,1

A The domainofn=R ~|0, 1)
M(x)=1

MR. AHMED SHAMEKH = 01010354592 |-
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10)(a) Graphically: 12)(a) f (x) = 4 —2x2
4 F:;—I-—l!l- ‘_!'r=4-); A(-31-2]-11]0 1 . 3
) X|0 |1 |-2 x|0 12 |4

v|-5]0]3 4 [3 [0 |5

y |4 |5 |2 y|4 |2 |0
_: -
3 = | i
...... 2 ) -
B]
=it !]' .... :r
f 1 - - ¥ M- " - x : .
] L O I I S -
,_ Zpe L
From the graph : The $.5. = {(0. 4)) (1) Roots of the equation: f (x) =0are—-2,2

_ (e-2)(2+3) x{ ¥-13)
{h] n {I} T [ x42)(x+1) - (x-2) (x+1)

(2) The axis of symmetry is: x=10

s The domainofn=R —-{-2,-1,2) (by~L-W=4 (1),v2(L+W)=28
_.1:-.‘!_ X — =3 x =
Jl'll,’.i:"j—JrH = SL+W=14 (2)
n()===-1 ,Adding (1) and (2): ~ 2 L =18
11) () ~L=9,thenW=5
(b)vy=x+2 (1) ~Areaolthe rectangle=LxW=9 x5 =
45 cm?,

Substituting in the other equation
ax+x(x+2)-4=0

a4+ 2x=-4=0

A2+ 2x=-4=0 sx+x-2=10
AE+2)(x-1)=0

sx=-Land hencey =10

or X = 1and hencey =3

5 The $85. = ((-2.0).(1.3))

g: | MR.AHMED SHAMEKH | ,, 01010354592
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13)(a) y =34+ x (1) , Substituting in the other equation

AXE-2%4+3(34x)=15

SXE=-2x494+3x=15 ~Lx+x-6=0

A(x=-2)(x+3)=0
Sx=2and hencey=5
orx=-3and hencey=10

& The 8.5, =(( 2,5),( -3,0))
(b)n(x)=

(x—1)°
[x—1)x2+x#l)

=1
24x+1

& The domainofn=RK—{1)

. (x=1F CxTexed
W {I} T (e=1NaT4 ¥ +1) T gl

anx)=1
15)(a)2x-y=3 (1)
X+3y=5 le2x+6y=10

Substituting (1) from (2) : =~ Ty =7
»y =1 andhencex = 2

A TheSS. {(2,1))

_ 2(x+3) 3 x4
(b)n(x)= (x-2)({x+3) (x-2)(2-3)

& The domainofn=R -{2, -3, 3}

F 1x-4
(%) g + (x-2)({x-3)

_ 2x-643x-4 _  Sx=I0
(x=2)(x=3) (x=2)(x=3)

s(x-2) _ 5
= [x=2)(x=3) =x-3

MR. AHMED SHAMEKH

ATMATH |

14) (@) 3x2-5x+1=0
sa=3,b=-5andc=1

— 54J(-5)2-4x3x1 _ 54413

2¥ 3 4]

Sox=143 or x=0.23

& The §.5. ={1.43, 0.23)
(b) Let the length be x cm. and the width

hey cm.
Lx-y=13 (1)
Ay-2x=2 aldy-x=1 (2)
Adding (1)and (2) i wy=4 L x=7

 The length = 7 cm. , the width = 4cm.
16)(a) f (x) x*+3
X1-3|-2

-1 10|12 |3
y|12|7 |4 |3 |4 |7

12

(1) The 5.5, of the equation: f(x)=01is 9

(2) The equation of the axis of symmetry

is:%x=0

5 ‘ 01010354592
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16)(b)+~P(AUB)=P(A)+P(B)-P(ANB)

- S A
+'!5=;+;‘F[AHB]
~P(ANB) =3

lx-2)xe2) x(x-2)
17) [a}n{.r)- (x+2W x+1)  (x=2)(x+1)
% The domainofn=R-{-2,-1,0,2 )

{x=2){x+2)
(x+2) x+1)

(x-2 ) x+1) _ x-2
x(x=2) Sl

nix)=
(b) Let the measure of the two angle are
xand ywhere: x>y
~X+y=90° (1) x-y=40° (2)
. Adding (1) and (2) : » 2x = 130
sxe= G50,y =28
~ The measure of the two angle are

65° and 25°

AT MATH |

18)(a) x = 7-y (1), Substituting in the other equation
“(T-yP+y:=25 +49-M4y+y+y'=25
“3yi-14y+24=0
Ayt=Ty+12=0 =(y-3)(y-4)=0
~y=3and hencex=4ory=4and
hencex=3
~The S5 ={(4,3).(2.4)}
(byvx(x+2)=1 W Xx4+2x-1=0

sa=1,b=2andc=-1

_ =24/ (2 -4 (1) [-1) _ -24+8
i 7

~Xx=041 or x= -2.41

= The5.5.= [0.41,-2.41)

19)(a)x-2y=0 (1),2x-y=3

ie.-4dx+2y=-6
Adding(Dand (2):~-35=-6
~%=2,Substitutingin(1): ~y=1

4TheS.S = {(2,1))

j I MR. AHMED SHAMEKH

9 ix
[h} n{r) T 32 x-1)( 2e41) *1:{2141

s~ The domainofn=R — {-;- “%*ﬂ}

i i

1 () ={z:—urz:+n T 2x-1

_ 1=2x-1 -2 %
[2x=1)Zx+1) {Zx=1){Zx+1})

N (0) is undefined.

53 | 01010354592




SERIES | ALSHAMEKH || AT MATH

20)(a) (1) + @5 2)(@)x+y=4  (1).2x-y=2 (2)
(b)f(x) = x*-2x~-3 . Adding (1) and (2):
X|-2]-1|0 1 |2 |3 4 L3Ax=6
y|5 (0 |-3 |-4([-3]|0 5 & x =2, Substituting in (1)
% ay=12 ~The S$.8. ={(2,2)}
(b) Let the two integers x and y
ax+y=9 e x=9-y (1)
X X Nyt =27 (2)
Substituting from (1) in (2):
w(9-y)-yE=27
A ~81-18y+y?-y?=27  ~18y=>54
~y=3and hencex =6
& The two integersare : 6 and 3
(1) The vertex of the curve is (1, - 4) 22)(a)n(x) = u_:]_L'm] - [:;‘;;:: =
(2) The minimum value of the function is - 4 & The domainofn=R-(1,-1,0,5)
(3) The two roots of the equation : f(x) =0 N (x) =:$” b4 xlt =i
are-1,3 (b)x=1+y (1).Substituting in the other
equation

“(l+y)+y=13
Al42y+yi+yi=13 2 2y*4+2y-12=0
ay2+y=-6=10 w{y+3)(y-2)=0
sy=-3and hencex=-2

ory=2and hencex=3
& TheSS.=((-2,-3).(3,2))

MR. AHMED SHAMEKH 24 01010354592
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23)(a) *X2-4x+1=0 WE@MW: (21 35
sa=1,b=-4andc=1 (b) f(x) = x*-4x+3
4+ 1P 4 xl x1 44412
e e [x|o[1]2]3]4]
L x=373 or x=0.27 ly 3 0 |-1]| 0 JJ
~TheSS. ={3.73 ,0.27} %

Ei=2xhd K Fmy=

(h} n EI] " el

- ooy 4 d (x=2)xr+1)
T lx#2NxT-2x44)  (x-2)x+2)

~Thedomainofn=R - [ -2, 2]

1 Y41 x+2 1
i = o = =1
N (X) 42 x42  x#2 Y

=4

From the graph:

(1) The minimum value =- 1

(2) The 8.5. of the equation:

_ lx=1){x+1)  x(x-1) B |
25) (a) {I}_l.l’-lrE]'l_.I'i-l_h T x{x+¥3) X-4x+3=0is[1,3)
%~ The domainofn=R—[-2,-1,0,1) y=X+1 v y=2X-1
nE)=2xT=1 x|-tfofr] [xfof2]3
i e N N i L T
(b) Graphically :

From the graph: The 5.5.= [ (2, 3)}
Algebraically :

Y=x+ 1(1) .5ubstituting in the sther eguation

AX+El=2x-1

HX =2, Substitutingin (1): 2y=3

~TheSs.= ((2,3)) T

-

s | 01010354592
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26)(a)~vL-W=2 (1) ,2{(L+W)=3 2 (a) f(x) = x2-4x+3
e L+W=16(2)
JAdding (1) and (2): «2L =18

X1-110 |1]2]3 |4 |5

vy |8 |3 [o]-1]o [3 |8

LL=9 W=7
« Area of the rectangle =9 x 7 = 63cm?,
(b)(1) = P( AU B)= P(A) +P(B) - P(AN B)
~08=05+X-01 ~X=04
(2) * AcB,thenP(AUB)=P(B)=X _
~X=08 §

ZH)(a) vy = x + 2, Substituting in the other equation > _ -10 : -
Sxt4x(x+2)-4=10 b ,r"
“X24+xt+2x-4=0 From the graph:
ndxi4dx-4=10 (1) The minimum value of the function = -1

Lxigx-2=0 s(x-1)(x+2)=0 (2) The equation of the axis of symmetry is: x =2

sx=land hencey=3 (3) The 8.5 of the equation: f (x) =0is{ 1,3}
orx=-2and hencey =10 (b)«3x-5x+1=0
ATheSS.={(1,3)(-2.0)} ~a=3.b=-5andc=1

B0 () =555+ s e
~The domainofn=R—{3,5,-3) sx=143 or x=0.23
M) = xm=a »The$.5. =(1.43,0.23)

MR. AHMED SHAMEKH 2 01010354592 |
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I r—z

@) =rnm Y e

~Thedomainofn=R-[0,-2,2]

1
b [I}—“z :ﬂ.“: x+2

,n (-2) is undefined

(b)2(L+W)=14 = L+W=7

sL=7-W
.7 L&+ Wi =25 Substituting from (1)
A(T-wyP+wi=25
S -4 w+Hwid wi=125
4 L2wi-1dw+24=10
y AWE-Tw+12=0 & (W-3)(W-4)=0

& W=3and hencelL=4

orW=4 and hence L=3 (refused)

4 The length = 4 cm. and the width = 3cm,

(1), x+2y=5

. 31)(a)~2x+y=1
; le.-2x-4y=-10
CAdding (1) and (2) :--3y=-9

(2)

ay=3 from(1): ~x=-1
= The §5.={(-1,3)}
(b) «x2-x-4=0

sa=l1l.b=-1landc=-4

ol £J(=-1F=4A X 1%=-4 13417
e 2x1 -2
1-4.12

1412

(e=7Hx+7) . X¥T

30)(a) n (x) = (x-2) 42 x+8) | x-2

= The domainofin=R-[2,-7)

(x=THx+T) ¥=2

N (x) = (x-2}x?+2 x4+4) = x47

=7

142 x+d)

(b)wx-y=0
Le. X =y, Substituting in the ather equation
o XE=9
~X=3and hencey=13
orx=-3and hencey=-3

»The§5.=((3.3).(-3.-31]

32)(a) f(x) = x2-2x

x[-1Jo 1]z [3
y |3 [o]a]o |3
%

From the graph:
The 8.5. of the equation: f (x) =0is{0,2]

] 3
(b) P(A)=1-P(A)=1->==

. P(AU B)=P(A) + P(B) - P(ANB)

lex=256 or x=156

MR. AHMED SHAMEKH

3o
===+~ P(ANB)
~P(ANB) =+

,7 | 01010354592
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. X2 X+4 (X=21 [ X+1) - .
23) (@) n(x)= (x+2)(x2-2 x+4) ” (x-2) (X+42) WA x=Ly=14 (1)
“Thedomainofn=R~-[-=2,2] SX+y=5 le.6x+2y=10 (2)
1 X+l x+2
M) =c—dmm==m=] LAdding(L)and(2): ~7x=14 sx=2.y=~-1
(D)L-W=4 (1),2(L+W) =18 ~The§S. =[(2,-1))
SAdding (1) and (2): ~ 2L =18 (by«x=y+2 (1), Substituting in the other equation
sh=9%andW=5 Sy+2¥%+(y+2)y=0
» Area of the rectangle = L x W = 45cm?, SYitdy+a+yi42y=0
35)a)»x2+x-3=0 ~a=1,b=1landc=-3 w2yi+by+d=0 oy2i+3y+2=0
== i-.."'{-—lI}i-: L= P l:;ﬁ Aly+2)(y+ D=0 sy=-Zandhencex=10
~x=13 orx=23 ory=-land hencex =1
- 42244) | xe2xd . - = <1
(b) n(x)= Ve & TheSS. =((0,-2).(1,-1)}

~The domainofn=R-{-3,2,3]

X+2ir+d4 =3 =3
'" I i -
{ ) r4+3 1 42x44 X412

36)(a) flx) =(x-2)*
X/-110 |1 ]2 |3 |4 |5

ylo [4 Tt o1 |4 |9

(b} A and B are two mutually exclusive
~ P{AUB)=P(A) + P(B)
s 09=05+x A~x=04

;| MR.AHMED SHAMEKH = . 01010354592
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37)(a) n(x) = = "i]::'+j} - {1—1:::4-1] 38)(a) Let the unite digit is x and the tens
s Thedomainofn=R—-{-3,1,-1) digitisy
M= (DX —=1 sx4+y=11 (1) 2x-3y=2 (2)
(b)y=2+x (1).S5ubstituting in the other equation Multiplying (1) by 2: - 2x+ 2y =22 (3)
X% (24+x)-4=0 , Substituting (2) from (3): & 5y =20
AXE+2Ix+xi-4=0 +2x2+2x-4=0 sy=4 &x=7 &Thenumberis4?
X+ x-2=0 “(x+2)(x-1)=0 (b)) *¥¥-4x+1=0 -~sa=1b=-4ande=1
s x=-2Zantd hencey = 0 orx = 1and hencey =3 .'.x=*tﬁ"—?:':_“-ﬁ=”:ﬁ
~The S =[(=2,0).(1.3)) SXx=373 orx=027
39)(a) 0 (x) = ——+— :.-;;im 4 TheSS. = [ 3.73,0.27)
~The domainofn=R—{0,-2,2) 40)(a) (1) 3 )=
@) = x = /00 =31
(b)x4y=7 (1),5x-y=5 (2) X|1-2 1110 |1 |2
,Adding (1) and (2): = 6x =12 y|e |3 |4 (-3 |0
4x=2, Substitutingin (1) : ~y=5 X
#The $8.={ (2,5)) o i X

From the graph

= The mintmum value of the lunction is: - 4
- The set of zeroes of the function s :

((=2.2))

MR. AHMED SHAMEKH =, ‘01010354592
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FIRST: ALGEBRA

Choose the correct answer :

1 The domain of the functionn : n (X) = "x_j—CT 18 corerereenene

(2) R- {0} M R-{1} cyR-{0,1} @R-{-1}

The number of solutions of the two equations : X+ y=2and y + X =3 togetherin R xR

() zero ) 1 ©2 @3
T X#0 »then 52x + 2x D ereeerrneeins

3. - X“+1 X°+1
(a)-5 (b) ~1 1 (d)5

If the ratio between the perimeters of two squares is 1 : 2 » then the ratio between their
4. ATEAS = »+rvreeeesrrer  irereereerenss

@1:2 b)2:1 ©)1:4 @4:1

The equation of the symmetric axis of the curve of the function f where f (X) =X 2_4

(a) x_=;4 by X=0 ..__ (c)y=0 dy=-4

If A C S of random experiment and P (K): 2P(A) sthenP(A)=eocerren

@1 ® 1 GE: @1

The solution setofthetwoequatiohs :X=3 5 y=4inRXRis -ooerernene
7.

@ {349} ® {@,3)} ©R (4D
. The set of zeroes of the function f where £ (X) = X% + 4 in R i§ -----ve-veeeen-

(a) {2} () {2 -2} ©R 3%




Preparatory Three - Second Term Revision - 2022

If Aand B are two mutually exclusive events of a random experiment » then P(A [ B) = -------e-eree-

9.
@0 ()1 (€) 0.5 G)3%)
0 The domain of the multiplicative inverse of the function f : f (X) = ; +;’ i§ +rereeecnnens
@R-{3}  ®R-{-2,3} ©R-{-3} (@R
. Thetwo'straightlines:3x+5y=0,Sx_3y=0mintersectin ...............
" | (a) first quadrant.  (b) second quadrant. (c) the origin point. (d) fourth quadrant.
. KP(A)=0.6 sthenP (A) = -rverrunee.
" | (a)04 (b) 0.6 ()05 (d)1
The solution set of the two equations : X=2and Xy =061is ...............
13.
{23} o {2,3} ~{G@ 2} - {3}
. e s . X-2.
The domain of the additive inverse of the fractionn : n (X) = X3 R
14. -
“R-{2} - R-{5} - R-{2,5} {25}
The multiplicative inverse of the algebraic fraction X 23+ ] IS sreevresnnenas
15.
._=3 X2l X241 XAl
. L _X+2 .
The domain of the fractionn : n (X) = IS ~oererneriene
16. _ x-1 o
o R-{-2} R-{1} T R-{1,-2} - R-{2}
Ify=2and X2—y>=5 sthen X = rerrmnnes
17.
=3 3 e3 9
The two straight lines : X +2y=1and2X+4y=6are v
18.
.. parallel .. intersecting . perpendicular . coincide
" The set of zeroes of the function f : where f (X) =~ 3 Xs ............

(a) {o} (b) {3} - (©{-3} @R-{3}

-
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If A C S of a random experiment s P (A) = P (A) » then P(A) =

20. 1 1 1

"(a) (b) 5 © 7 () %

‘If X is a negative number, then the greatest number of the following is ...............
21. 5

@3% ®) % (©)5+X @5-x

The domain of the function f : f (X) = x; S
22. - |

@R ®R-{-4}  ©R-{-4,3} (@@

If the sum of ages of a father and his sun now is 47 years » then the sum of their ages
23 ) aftel' 10 years IR L LT T LT years'

@27 (b) 37 (c)57 (d) 67

If A » B are two mutually exclusive events sP(B)=05and P(AUB)=0.7
24 ,then P(A): ...............

(a) 0.02 )02 | (c)0.5 (d)0.13
’s (X4 1)% = s

T @x?+1 (b) x2-1 (@ X%-X+1 @ X*+2Xx+1

The additive inverse of the fraction 23‘ I8 oo,

w32 PSR @72
a c
x*+1 3 -3 x2-1

If X is a negative real number » then the greatest number of the following numbers
27 | 18 e, T | ;

@3+X ®3Xx ©3-X )%
28 Ifx=2andy=3 ,then(y_zx)loz ...............

| @10 (b)-1 (©)-10 @1

The point of intersection of the two straight lines X=2and X +y=61is ...............

29.

() (2 +6) b) (24 (c)(4+2) @ (6-2)




30.

Preparatory Three - Second Term Revision - 2022

Twice the number X subtracted by 3 is ...............

v X-3 22X +3 S 2X-3 3-2Xx
The domain of the function f where f (X) = 5 x2 - I T
31.
-{5} - R-{-5} R R - {zero}
IfFP(A)=4P(A) sthenP (A) = oovvv.
32. 20 0.8 0.6 04 102
If X is a negative number , then the greatest number of the following is ...............
33. | .. . 5 .
2 If 27 x 37 = 6% s then k = w-vevvovevvenns
| () 14 (b) 7 ©6 @5
35 If X~ y* =2 (X +y) Where (X + ) # zero s then (X —y) = +vveeee
@2 (b) 4 (©)6 (08
In the experiment of rolling a regular die once » the probability of appearance of an
36 | even number on the upper face = -oonevens
' J
@+ ® + © 5 @ 2
The set of zeroes of the function f: f 0O = X%+ 18 cccoer.......
37. | -
@) {1} o {-1} @{-1-1} (d) @
The point of intersection of the two straight lines X + 2 = 0 and y =3=0s e
38.
@(E=2,-3) (b)(-2,3) ©)(2--3) d)2-3)
f2°%x3=mx6*sthenm=ooeeremme.
39.
(@)1 (b)2 ©3 d)6
The domain of the multiplicative inverse of the algebraic fraction ;: ; iS oo
40.
(@R b R-{-5} (c)R-{-2} R-{-2,-5}

-4-
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Essay problems:
i By using the general formula ; find in IR the solution set of the equation :
" 12x2-5X+1=0 "approximate the result to the nearest one decimal”.
Find n (X) in the simplest form showing the domain where :
2. . X-3 4
n(X)= -
) X2-7x+12 X*-4x
3 Find in R x IR the solution set of the two equations :
" X-y=0and X2+ Xy+y?=27
Find n (X) in the simplest form showing the domain where :
4. X +4X+3 X+3 |
n{x)= + then find n (2 — 3) if possible.
== X2+3X+9 ndn (2)sn(=3)ifpo
s A rectangle with a length more than its width by 4 cm. If the perimeter of the rectangle
| is 28 cm. » find the area of the rectangle,
Ifn(X) = _xi-ax ,
X2-3x+2
6. g .
(1) Find n~ ' (X) in simplest form showing the domain of n™ !
@ Ifn ! (X) =3 s then find the value of X
: 1 X3 2 n, (X) = > ox en prove that : n; =n,
In the opposite figure :
If A and B are two events in a sample space S
] of a random experiment 5 then find : S - "
MP@ANB) @ P(A-B) «@D
() The probability of non-occurrence of the event A %6
Find in R the solution set of the equation : 3 X2-5X+1=0
9.
by using the formula “approximate the result to the nearest two decimal places”.
10. | Find in R x R the solution set of the two equations: X—-y=1 » X2+y*=25

-5-
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Simplify
11. x3_38 X+3 : :
n(X)-x2+x_6xxz+2x+4ashowmgthedomamofn.
If A and B are two events of a random experiment and
12. | P(A)=03 , PB)=06 » P(A(1B)=02
.Find':(d)P(AUB) @PA-B)
13. | Solve the following two equationsin RxR:2X—-y=3 » X+2y=4
Simplify :
14. CX243X . 2X . .
g(X): 2.9 vx+3,showmgthedoma1nofn.
Simplify :
. n(X)=x2+2x+ X+3 » showing the domain of n.
XI-4  X%-5x+6
6. Find in R x R the solution set of the two following equations algebraically :
X+3y=7 5 5Xx-y=3
Find n (:2 in its simplest form » showing the domain of n :
17. n(x)=x2+X_ X+5
X“-1 x%’+4x-5
. Fl;‘ld in IR the solution set of the following equation by using the general rule :
X“-4XxX+1 = 0 rounding the results to two decimal places. '
Ifn, 0)=—2%_ , 5 (x=_X+3x
19. 1 X+ 6 2 -:’Cz_HSx"_gsthenprovel;hat:nl_—.n2
If A and B are two events from a sample space of a random experiment » and
70. | P(A)=07 s P(B)=06 » P(A{\B)=04 5then find :
(DP(AUB) @P(A-B)
Find n (X) in its simplest form s showing the domain of n :
21. x3-38 o X+1 '

n{x)=
x2_3x+2 X?+2X+4




22.

Preparatory Three - Second Term Revision - 2022

Findin R xR the solution set of the two following equations :
X-y=1 » X?>-y*=25

23.

x2_3x

If =
n (%) (X-3)(x2+2)

sthen find : n™ ! (X) in the simplest form s showing the domain of n™!

24.

If A and B are two events of the sample space (S) of a random experiment such that :
P(A)=07 » P(ANB)=03Find:P (A - B)

25.

Find n (X) in the simplest form showing the domain of n > where :
2 2
n(Q=X 12X 2-X
X -8 X +X-6

Find the common domain of n, »>n, to be equal such that :

26. X2 +3X+2 x2_y
n (=222, g =%l
=Ty 0 T ETS
27. | Find inR x R the solution set of the two equations : X +y=7 5 Xx2+y?=25

28.

Find n (X) in the simplest form showing the domain of n s where :

__ X . X+3

29.

Find in R the solution set of the equation : 3 X2 -5X-4=0

» by using the general rule » rounding the result to two decimal places.

30.

Find in R x R the solution set of the two equations graphically :
X+y=4 4 2X-y=2

31.

If set of zeroes of the function f: f (X)=a X2+ X +bis {0,1}

find the value of each two constants a and b

32.

3 2
X" -8 X“+2X+4
Ifn(X)= +
K= 7 Taxox-3
Find n (X) in its simplest form showing the domain of n

33.

Find in R x IR the sohstion set of the two equations :
2X=1~y » X+2y=5inRxR

34.

Find the solution set of the two equations : y - X=3 » X2+y’ - Xy=13inR?
-7-
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If A » B are two events in a random experiment s P (A)=0.7 s P(B)=0.6

35. | andP(AMNB)=04
Find : (1) P (AU B) )P (A-B)
X ex  x-5 e , :
36. |En(X)= - Find n (X) in its simplest form » showing the domain of n
%) x2-1 xX?-6X+5 X) op ’ &
37 By using the formula » find in IR the solution set of the equation : X2 -2 X—-6=0
" | (Approximate to the nearest one decimal)
_ x*+2X _o2x o
38. Ifnl(DC)-x2+4x+4 ’ nz(ﬁo-lzx+4,provethat.nl—n2
X=-2
39 Ifn(x)_x+1
Find : (1) The domainofn™! = @nl@3)
_X*-3X+9 2
40. | Ifn, (X)_W ’ nz(X)=m Prove that: n =n,

e TC=O Y  ~




. (X+3)Cxey) _._ix-ry_
(X-3)(xt43x+¢9) “(x’+3:r.+9)

@b @a @4 @c | D-R-13,.3}
- (x+(x+y) o X
(x-(x1$Zx+9) (X +3)

db @c  ©d @a |G letthe lemphh is x,widbhis.
e b Da Hc | Mﬂ i

21z2 +qu-7 W-@—E&m%ﬁeﬁ%%tﬂ% 7
SS. » i 2-‘1;94237... @E-;-:L:_} . 1> SE—E- Y AR
i e 2= e

- ,M, x-3 _M 4

@ nex- (x-3¥(x-4) xCx-u)
D=R-13,4, 2
Ll |

Yy (=W gl

© x(z-u) x(x-u) X




®_l=_3_.ﬂ_b;_-§__r_c:.i_____mﬁ
55 ~§4.43 , 0-23} R

@ neosgl z)c;m)

.l..

D= e.i..m

C x-2)(x~3)

- 4 %

-%@——Efm@un

@ 2f=d  x4y'z25.,¢ no0:

x(x-3)4(x43)

(x-2)¢x~3)

=

_x“3x 4243 _ x-2x4+3

T (e)x-~3) 2 (x-2)Cx-3)

——— __1' S

| @ e 20l te 21

3‘5':—1@@—)—@-— AAAAA M-xtx/) (x.'.g)
?7 3 @ &-J(xd)  @e)Cx-1)
(x+3 | WD=RoaS 4 =9, - a-9
(1—2)(24-3) XGE{“—) J*Jx—_{»ﬁ‘L

D-Rg2,33 , wexy o g

@azd, bemy, cod
ss.-{37% , ,+z1§_________

DO 0.3+0.6-0.2:0.7

— 56‘*“““5“ = Syeine

: o ] _2x - - .
— @ 03-02z20.4 — |@®Mcx)= TR >Dy=RE
x2 _L(Ll.gg‘&’)_k

JDT:R{ \

(x +3)(x+ 3) x+3

x.-:f_o__.__

= Ye WA

1) @

(9 nexy - ngtq-yj -

T2k sy 2 1

(x-3Xx+3) ° x+3

?-)(x-l) (z X +4Y

‘ N

nca;.r_"__* %43 = (x=+3)

x~3 2 2(x-3)
w«nm}\ mm/)\ s
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6 Jobp-x e 2

@ PPTIN ( x? 47 ¢4) I (x-sx/_?
(e ~2)(xY% 2x +4) (z-ygr'q

- \‘fz“3 - 2¢ = -‘.i;'

x—z x“

_D;R_-_-B,z'!-

v

@_M,,_g (e42)cx 1) _ 2c+e! s
-Q itz}(:x-t)(x-n) x~2

(xd)x+1) _ a4l

T (x-t)lx~1) 00 Xx~2

e e S e g e R R

o o e



@ e X=3x42 . 1B
L D,R-] g(xﬂ)(x-s:c-i-!) x43

2 - !

J

2Cx+3) X+3
29

po2Rata)

() ncxrs XA

(x-oc?m

D=R-4,01,53

NCx)e =1 - 4

x-|

S5 % 34, -1.6%

b

@9 N\ Cx) Xfx-tza - x -
+x47) z;‘,_)‘b"“a}'

o My = ﬂq

ML%L_AM
Zlx4r) ~ (xm) '

@D O=R-1-123-
3-2 1

< .
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~ FIRST:ALGEBRA

Choose the correct answer:

(1)

(2)

(3)

(4)

(5)

(6)

7)

(8)

If the domain of n(x)=z—:; isR-{2}, thena = ...

0 -2 0 -1 [c JB! O 2
If x—-y=1and (x-y)®+y=1, thenx = ......
O -2 O -1 (C ! O 2

If A is an event in a sample space of a random experiment and
P(A) = 4 P(A"), then P(A) = ...

© 4 01 C/

1

Q@ 3

(SN

If the two equations: 3x-2y=5 and 3x-2y=k have infinite
number of solutions, then k = ...

© 3 (b I ® -5 ® 5
If x=1 is one of the set of zeros of f(x)=x*-3x+c, then c=....
(2 I 01 O 2 ® 3
Which of the following is in the simplest form?
x+1 x+1 X X
e x2+1 @ x?-1 G x? @ x+x

If f(x)=x-3, then z(f)=....

O R O R-{33 0O {3 O 3

The two straight lines: x=4 and y=3 intersects at point .......
© “4.3) O (0,0 O GB.49 O (-3.-4)

If X and Y are two mutually exclusive events, then P(XnY) = ..
(2 I (b I O {} (d I

]
01 <OW4OW40W4OW40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40@
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(10)

(11)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

The two 1°" degree equations in one variable which have infinite
number of solutions are represented graphically by two straight
lines are ...

© paradllel ® coincident
(® intersecting at one point @ disjoint
T+x

If f(x)—7 , where xcR-{7,-7}, then f(-2) = ...

1 1

- -1
9 75 O 7@ 0 p 9 7

If the domain of the function n(x)=xz;+2k is R, then k ...... zero.
X

O - 0 < (C I Q <
The intersection point of the two lines: x+2=0 and y=x is ...

© (2.2) O (2.0 O (-2,-2) O (0,0

If n(x)= j:; , then the domain of its multiplicative inverse is ..

© R-{2) ® R-{-1.2} © R-{-1} O {-1.2

If the two equations: x+2y=1 and x+ky=2 have a one solution
inR xR, then k = .........

© 2 o 4 Q -2 @ -4

If the curve of the quadratic function is passing through the
points (2,0) and (-3,0), then the S.S. of f(x)=0 inR is .......

© {(-2.3) O 8.2 O {2.-3} © {-3.0

3—-x

01 0 -1 ® 3 ® -3

If A is an event in a sample space of a random experiment,
then P(A™) = ...

01 O -1 O 1-P(A) O P(A)-1

The simplest form of n(x)= where x¢{3} is ...

T

;
;
;
?
;
(

:
:
(
:
:
:

;01 <OW4OW40W4OW40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W4
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(19)

(20)

(21)

(22)

(23)

(24)

(25)

(26)

(27)

(28)

(29)

The S.S. of the equation x*+4=0 inR is ......

0 < O & o {-2} ©O 2.-2
If «°-b2=6 and a-b=+3, then (a+5)* = ...

6 2.3 ® 33 © 3 ©® 12

If A and B are two mutually exclusive events, then P(ANB) = ..
0 o 0 2 e ; O !

If f(x)=-3x, then z(y)= ...

(2 I O {0} O {3 © R-{3}
The simplest form of n(x)=;:z where x=7 is ...

(2 0 -1 (c I O -7

If the domain of n(x)=$ isR-{2}, thenk = ...

0 2 O -2 O 4 O -4

The S.S. of the two equations: x-3=0 and y=4 in RxR is ...

© (3.4 O (3.4} O {4.3)} O G4

If A and B are two events in a sample space of a random
experiment and A < B, then P(A U B) = ...

© P(B) O P(A) © P(ANB) ® o
If 3'x5'=225, theny = ...
O 2 ® 15 ® 0 ¢ 20

If n(x)= iti , then the domain of its additive inverse is ........

© R-{3) O R-{-2} O R-{-23} O R
If f(x)=x*+9, then z(f) = ...... in R
© R (b %) o 3 © {3.-3}

]
01 <OW4OW40W4OW40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40@




3" Prep. 2™ term 2021 }®(<o»)@(<o»)®(<o»)®(<o»)@(<o»)®(<o»)€ Mahmoud Moheb

(30)

(31)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

The curve y=ax’+bx+c cuts y-axis at the point ...
© (0.b) ®O (b.0) O (c.0) © (0.0)

If the two equations x-3y=5 and 2x+ky=10 have infinite
number of solutions, then k = ...

O 10 O 6 0 -6 ® 3
If f(x)=x*-m and z(r)={3}, thenm = ...
6O 9 0 27 ® 3 ©® 3
If AB=3and AB*=9, then A°B = ..

1 1
© 3 (b I (C (d I
If the probability that a student is succeeded in an exam is %
then the probability of his failure is .........
© 10% O 20% GO0 O 1
If the domain of f(x)=l—i is R-{0,3}, thenk = ...

x x+k

© 3 0 6 ® 5 O -3
If P(A) = 0.6, thenP(A*) = ...
® 04 ® 0.6 ® 05 O 1

If x is a negative number, then the greatest one of the
following is ........

O 7« ® 7 +x ® 7-«x @;

If the two equations x+2y=1 and 2x+ky=2 have one solution,
then k = ...

o1 0 2 o 4 @ -4

If the domain of nl(x)=i equals the domain of n,(x)== =3,
x—8 x+k

then k = ...

©O s O -8 O 24 ® 3

<o>>©(<o>)©(<o>)©(<o>)©(<o>>©(<o>)©(<o>>©(<o>)©(<o>>©(<o>)©(<o>)©(<o>)©(<o>>©(<o>)©(<o>>©(4o>)©(<o>)©(<o>)©(<o>>©(<o>)©(<o>>©(<o>)©(<o>)@‘
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(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

Twice a 2-digit number, its units y and its tens x is .........
e 2y+10x ® 2y+20x ® 2x+10y @ 2x+20y

A bag contains 20 cards numbered from 1 to 20, one card is
chosen randomly, the probability of that the chosen card caries
a number divisible by 2 and 3 together is ...

1 6 3 13
© ; O % ® 2 O 2
If f(x)=%, then Z(f)= ......in R.
0 2 O {-1} O {-1.2} O (-2,2
If x*+y*=2xy, then x—y = ...
© J2xy 0O 2 ® 0 ®O +1
If x = -3 is a root of the equation: x*+mx=9, thenm = ...
© 3 O -3 O 0 ® -9
The domain of the additive inverse of n(x)= xf iS oo
O R ® R-{0} O R-{3} ® R-{0,3}
Number of solutions of the two equations: x—% y=4 and
2x-y=2 iINR xR is .nee..... solution(s).
® one ® two @® infinite ® o

If A is an event in a sample space of a random experiment and
P(A) = 4 P(A"), then P(A) = ...

©® o8 ® 0.6 ® 04 ® 0.2
If the set of zeros of f(x)=ax+6 is {-2}, thena = ......
© 3 O 2 O -2 © -3
If y=1-x and (x+y)?’+y=5, theny = ...

© 5 O 4 O 3 O -4

T

;
;
;
?
;
(

:
:
(
:
:
:
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T

;01 <OW4OW40W4OW40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W40W4

(50) The two straight lines 3x+5y=0 and 5x-3y=0 intersects at ..
© orignpoint @ 1% quad. @ 2"“quad. @ 4™ quad.
(51) The additive inverse of the fraction ii; where x = 5 is ........
7-x x+7 —(x+7) x-7
e x+5 b 5-x C 5-x @ 5-x
(52) If A is an event in a sample space of a random experiment and
2 P(A) = 3 P(A"), then P(A) = ...
® o8 ® 0.6 ©® 04 ©® 0.2
(53) In the equation: ax?*+bx+c=0, if b*-4ac<0, then the number
of real roots of this equation is ........
01 O 2 c JRY ® Infinite
(54) If (x)=>"1, then n'(4) = ...
x+2
O -1 O 2 ® 3 ® undefined
(55) If x*-)?=6 and x-y=+3, then (x+y)> = ...
6 2.3 ® 33 © 3 O 12
(56) If the two equations: x+4y=m and 3x+ky=21 have infinite
number of solutions in R x R, then k + m = ...
O 19 O 20 o 21 ® 22
(57) The common domain of the fractions: = and x?fx iS s
© R-{1) O R-{0.1} O R-{z1} ©® R-{0,t1}
(58) If a coin flipped once, the probability of landing a tail = .......
©® 100% ® 50% ©® 25% ® o0
(59) If the S.5. of the equation 4x*+4x+c=0 in R is {%1} then
the value of c is ........
2 I (b I o -1 © -8
S0 ST o=l SEE e S K0S >><><<°><°>X><< SO SE= 0 ST eSSl SEE eSS
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(60) If n(x)= xzz—x and n_l(k)=3, then k = ...

x“-1
-1 1 3 1
0 - (b I (C I O 13
(61) If the domain of f(x)=ziz is R - {-2} and f(0) = 3, then
a+b= ...
0 2 O 6 ® 8 ® 10

(62) The solution set of the two equations: x=2 and xy=6 is ......

© {(2.3% O {2.3} O {(B.2)} O {3}

—, A A e
- N < e
— e

Essay problems:

(1) |Without using the calculator, find the S.S. of the equation
x*-8x+3=0 in R. where J13=3.6

T

(2) |Without using the calculator, find the S.S. of the equation
«+125 in R. where Vi7=4.12

X

(3) |Without using the calculator, find the S.S. of the equation
x(x-3)=-1 in R. to the nearest one decimal place.

(4) |Without using the calculator, find the S.S. of the equation

22-3=1 in R. where 6=2.45

X X

(5) |Without using the calculator, find the S.S. of the equation

2
x—+§x=—2 in R. to the nearest one decimal place.

9
—, A A e

. 2 242 . .
(6) |Find each of nl(x)=2xf ;4 and an):% in the simplest

form, showing the domain of each one, state that if ni = n, or
not? Give reason.

;
;
;
?
;
(

:
:
(
:
:
:
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2
(7) |rf nl(x)=x2f lgff 55 and nz(x)=2xzﬁ, prove that n; = n;
2_4 2 —6
8 |zf n‘(x)=x2x+—x—6 and nz(x)=%, prove that n,(x)=n,(x)
in the common domain, and find this domain.
®) |1f nl(x)=xT_1 and n,(x)= ;‘: ;i show that if n; = nz or not? Give
reason.
= T T —
(10) | Find algebraically the S.S. in R x R of the two equations:
x—-y=0 and x=i
y
(11) | Find algebraically the S.S. in R x R of the two equations:
x=2y+3 and »*-x=0
(12) |Find algebraically the S.S. in R x R of the two equations:
x—y=0 and xy=4
(13) [Find algebraically in the S.S. R x R of the two equations:
x+y=3 and x*+xy=6
(14) | Find algebraically in the S.S. R x R of the two equations:
x=y+4 and 3x+4y=5
(15) | Find algebraically in the S.S. R x R of the two equations:
3x-y=5 and x+2y=4
(16) |Find graphically the S.S. in R x R of the two equations:
y=2x-5 and x=-3y-1.
(17) [Find graphically the S.S. of the equation x*-2x=3 in R on the
interval [-2,4].
(18) | A rectangle which its length is more than its width by 5 cm.

And its perimeter is 18 cm. Find the area of rectangle.

T

:
:
(
:
:
:

© ‘o>M<o>W<O>W<O>M<O>M<O>M<O> O]
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(19)

If the perimeter of rectangle is 14 cm, and its area is 12 cmé.
Find its two dimensions.

(20)

A point lies on the straight line 5x-2y=1 where its
y-coordinate is twice the square of its x-coordinate. Find the
coordinates of this point.

(21)

The area of a rectangle is 77 cm®. If its length decreases by
2 cm and the width increases by 2 cm it will be a square. Find
the area of the square.

(22)

(23)

If the length of a diagonal of a rectangle is 5 cm and its
perimeter is 14 cm. Find its area.

r— P m———
‘\ e s == NI /

X —3x+2 x2+2x

xX2+x-6 x2+x—2

Simplify showing the domain: n(x)= , and then

find n(1) if possible.

(24)

(x)— x2-9 x2—4x

Simplify showing the domain: n(x)= 7 v 6 ~_2:_8

(25)

(x)_x2+x+1; x2—x
X -1 x2-2x+1

Simplify showing the domain:

S

(26)

Simplify showing the domain:

(27)

(28)

(x)_x2+x 5—x

Simplify showing the domain: n(x)= 1 7 6r35

e S N ———
— Te—

If A and B are two evem‘s of a sample space of a random
experiment and P(A) = —, P(B) = = and P(A n B) = . Find:

(a) P(AUB) (b) P(A B)

(29)

If A and B are two events of a sample space of a random
experiment and P(A) = 0.8, P(B) = 0.7 and P(AnB) = 0.6. Find:
(a) The probability of non occurrence of the event A.

(b) The probability of occurrence one of the two events at least.

T
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(30) | If A and B are two events of a sample space of a random
experiment and P(A) = % and P(B) = g Find P(AUB) if:

(a)P(AmB)-% (b) Ac B

(31) | If A and B are two events of a sample space of a random
experiment and P(A) = 0.3, P(B) = m and P(AUB) = 0.7. Find
the value of m if:

(a) P(A N B) = 0.2.

(b) A and B are two mutually exclusive events.

>
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ACCUMULATIVE SKILS
{[Choose the correct answer:
1 IF 3 x =45, then %x=......
© 3 O 5 ® 15 45
2 If s*=1,thens—=......
@ - O, © 1 5
3 If J25-16=5-k,thenk =......
© 4 O -4 C 3
1 4 If =3 and a»* =12, then b = ......
6 -4 ® -2 O 2 4
) 5 Half of the number 2° is ......
0 »» O » O »» 2"
6 If ab™ =40, ab™® =20, a0, b=0,thenb=......
© 1 0 2 (c I 4
U7 If 2 =1,thenx=......
0 2 O -2 O 3 -3
\l 8 The solution set of the equation x> +9-0 inRis ......
© {3} O {3 O {3} %)
9 If 2°x3° =6, thenx=......
© 5 O 6 ® 10 25
L 10 3x4-4+2=......
© 6 O 8 ® 10 12
y) 11 Va1 =......
O 9 0O -3 ® -9 3
B SE=e S SEe Sioe SEmre SEm

A
?
PN AN N N AN N A NN N AN N N AN N A AN N




U 12

1) 13

14

1) 15

{16

17

U 18

| 19

20

i 21

\) 22

23

If -5 and 5> =3, thenx y=......
O 1 O -1 O 5 ® 3
1 1 _
LI
36

2 1 1 2
o, o e ; @ 3
A rectangle of perimeter 30 cm, its width is 5 cm, then its length is ...
® 5 O 10 ® 15 ® 20
The probability of the impossible event = ......
© o0 ® 05 O - ® 1
If x+y=2, xz—y2=10,then P=—X = tanuns
© 5 O -5 O +5 ® 10
If a(c+d)-b(c+d)=12and c+d=4,then «-5 =......
6O 3 O -3 ® 48 ¢ 8
The solution set of the equation: x*=x inRis ......
0 o O {0} o {1} © {o1}
If ©+k=(x-10) (x2+10x+100), thenk=......
© 1000 ® -1000 ® 99 @ 999
If s-=3and 5°=7,then 5 =......
i o ; @ 21 O 4
If 'x—6,then 'x=......

3 2

© 6 O 9 ® 3 ® 18
~a+|4| =......
(a I O -8 O 8 @ 16
If ie+9=4+k,thenk=......
(a J O 0 ® 05 O -

X2 3" Prep. 2" term 2022 X /XX XS XXX~ Mahmoud Moheb
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i 35
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The probability of the certain event=......

01 O 0 ® 05 ® -
R NR = unrnn
©® R 0 1 O U ® R-{0}
The arithmetic mean of the values: 2, 3,4,7and 9 is ......
O 4 ® 5 ® 6 ® 8
If 27x3=-6*,thenk=......
© 11 O 5 O 7 ® o0
If 1x=l, then 2x =......
5710
© o5 O 20 O 2 O 1

If x is the additive identity and y is the multiplicative identity,
then 77+2> = ......

© 2 O 3 O 17 ® 9
The S. S. of the inequality x<2 inRis ......
© [2. O ]2, © ]-02] © [w2

If 5 times a number is 45, then the ninth of this number =....

O 1 ® 5 ® 9 © 81
If x> +kx+36 is a perfect square, thenk =.......

© 16 O 18 ® +18 0 12
If <* =64, then Jx=......

6 2 0O 2 e -2 ® 4

If s> =1,thenx=......

O 1 O 5 ® 0 ® 3

If |x|=7,thenx=......

0 7 0 -7 O 17 ® 14

—
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U 36

1 37

{ 38

v 39

i 40

Half of the number 4¢ is

© » (b

26

O &

d

X2 3" Prep. 2" term 2022 X /XX XS XXX~ Mahmoud Moheb

2”

In the experiment of throwing a fair die once, the probability of getting an

odd prime number is ......

1 1 1
o ; O e 5
Ifm:ﬁb,then%:......

2 3 3
© ; O ; e ;
The middle proportional between9 and 16 is ......
© 19 0O 12 ©® =16
|fx’y"=27,then%=......
0 27 0 5 ® 3

d

1
4

W&

+25

—
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7

4
5

x+Yy
2x +y

3) Find algebraically the S.S in R X R of the two equations
x-3y=6

7) Find algebraically the S.S in R X R of the two equations
2) Find algebraically the S.S in R X R of the two equations
3x+2y
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=3

%) Find algebraically the S.S in R X R of the two equations
2x -y

x+2y=4
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8) Find algebraically the S.S in R X R of the two equations
3x+4y =24 x -2y

=5

6)Find algebraically the S.S in R X R of the two equations
x + 3y

3
w
N
N
S
S0
N
N
S
-y ¢
S

gy




w
g
g
g
g
g
g
g
3
g
g

u]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
u]
m]
u]
m]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
0
W

SECOND TERM

#) Find algebraically the S.S in R X R of the two equations
0

2x+y-4=0
x-y+1=
y=2x-1

V4
Vi

3x+4y =11
9) Find graphically and algebraically the S.S in R x R of the

8) Find algebraically the S.S in R X R of the two equations
two equations

MATES PREPS

DANINANADNANA NIDADNANANI NANANANININADNANANAININANANANI NANANINININANANINININANANANINANANANININANANANINADNANANININANANANI NANANANANINANANANINANANANANINANANANANINADNANANINANADANANIY




1DADADANIDANANANANANANADADANADANADAL

DANINANANANANINADNANAN NANANANININANANANA NIDANANANI NANANANININANANA NI NINANANANINANANANININADANANI NANANANANINANANANININADNANANINANANANANINANANANININANANANI NANANANANINANANADA NI

5

3
w
N
N
S
S0
N
N
S
-y ¢
S

9

X+ 2y

Xy
x?+y2=20

Vi

T P P

70) Find graphically and algebraically the S.S in R x R of the
77) Find algebraically the S.S in R x R of the two equations
72) Find algebraically the S.S in R x R of the two equations

two equations
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SECOND TERM
13) Find algebraically the S.S in R x R of the two equations

MATES PREPS

, x?+y?=25

7

x>+ xy=0

I

7%4) Find algebraically the S.S in R x R of the two equations
xX=y+2

Xy +y?

V4

716) Find algebraically the S.S in R x R of the two equations
x+y=3 6
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x*+xy-4=0

’

76) Find algebraically the S.S in R x R of the two equations

=19

2x2+x+3y

’

77) Find algebraically the S.S in R x R of the two equations

O rounding the

718) Find the solution set of the equation 3x%-6 x +1

results to two decimal places.
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SECOND TERM

MATES PREPS

O rounding the

79)Find the solution set of the equation Xx2-2 x - 6

results to two decimal places.

0 using general

20) Find the solution set of the equation X2+ 3 x - 3

formula, rounding the results to two decimal places.

O using general

27) Find the solution set of the equation x2-4 x + 1
formula rounding the results to two decimal places.
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22) Find the solution set of the equation X2+ x =3 using general

formula rounding the results to one decimal places.

13) Find the solution set of the equation x?- x =4 using general
formula given that v17 =~ 4.12

Then from the graph deduce :
1) The coordinates of the vertex of the curve
2) The minimum value of the function

3) the S.S in R of the equation x> —4x + 3 =0
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MATES PRERPS SECOND TERM
25) Graph the quadratic Function f(x) = x> —-1,x € [-2,2]

Then from the graph deduce :
1) The coordinates of the vertex of the curve

2) The minimum or the maximum value of the function

3) The two roots of f(x) = 0

26) Graph the quadratic Function f(x) = 4 —x?,x € [-3,3]
Then from the graph deduce :
1) The two roots of f(x) = 0

2) Equation of axis of symmetry

27) Graph the quadratic Function f(x) = x* +3,x € [-3,3]
Then from the graph deduce :
1) The two roots of f(x) = 0

2) Equation of axis of symmetry

28) Graph the quadratic Function f(x) = x> —2x— 3,x €[ —2,4]
Then from the graph deduce :

1) The coordinates of the vertex of the curve

2) The minimum value of the function

3) the S.S in R of the equation x> —2x — 3 =0
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29) Graph the quadratic Function f(x) = (x —2)?,x €[ —1,5]

Then from the graph deduce : The S.S of the equation f(x) = 0

30) The difference between two numbers is 5 and the product of
them is 36, Find the two numbers

37) Two acute angles in right angled triangle , the difference between
their measure is 40°, find the two angles

32) A rectangle with length more than width by 2cm, if the perimeter
of the rectangle is 32 cm, find the area of the rectangle

. 0 9 99
e T,




¢ MATES PREPS SECOND TERM |
33) A number formed from two digits , their sum is 11, if twice the :
¢ unit digit exceed three times the tens by 2, Find the number

' 34) Choose the correct answer :
7) The solution set of the two equations x +y=0 ,x-2=0is:

w{0,2}  #{22) 0 {(-2,2)} D {(2, 2)}

: 9) The two straight lines: 3x + 5y =0, 5x - 3y =0 are intersected in
a) The origin @) First quadrant  ¢) Second quadrant  d) Fourth quadrant

¢ 3 The solution set of the two equations x-2y=1 ,3x+y=10is:
@ {(5,2)} & {(2,4)} o {(1, 3)} @ {(3,1)}

4) The solution set of the two equations x-y=0and xy =9 is:
: @ {(0,0)} & {(-3, -3)} o {(3,3)} d{(-3,-3),(3,3)}

¢ 5) One of the solutions for the two equation: x-y =2, x2+y2=20s :

@ (-4,2) 6 (2,-4) o (3,1) d) (4,2)

: 6) If the sum of two positive numbers is 7 and their product is 12 then
i the two numbers are :

a) 5,2 6 2,6 ¢ 3,4 d 1,6

7) Two numbers their sum = 13 and their difference is 5, then the two
numbers are

a) 7,6 6 8,5 ¢ 10,3 d 9,4




8) Two numbers their sum =9 and their product is 8 , then the two
numbers are

a 2,7 6 3,6 ¢ 4,5 d) 1,8

9) The age of ahmed is x years, then his age after 10 yearsis ..........
a) X+6 6) x-6 ¢) x+10 d) x-10

10) The age of ahmed is x years, then his age 6 years ago is ..........

a) X+6 6) x-6 ¢) x+10 d) x-10

77) The number of the solutions of the two equations x-2y=2 and 3x-6y=6

a)l 6)2 ¢)3 d) an infinite

72) If (2, 1) is a solution of the equation 2x +ay=6 ,thena=............

al 62 ¢)3 d)6

13) The ordered pair that satisfy the two equations : xy =2, x-y =1 is....
a (1,2) 6 (2,1) o (1,1) d (3,1)

19 If x =3 is a root of the equation : x> +mx =3 ,then m = ..............
a)-1 6) -2 ¢)2 d)1

15) The two straight lines representing the two equations 2x-y=4 , 2x-y = 3 are....

a) Parallel 6) Coincident ¢) intersecting d) perpendicular

76) The two straight lines representing the two equations 6x-9y=15, 2x-3y =5
are....

a) Parallel 6) Coincident ¢) intersecting d) perpendicular

77) If the two equations : x+4y =7 , 3x + ky = 21 have infinite solutions , then

a) 4 6) 7 ¢) 12 d) 21

. 0 9 9 9
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2) Find n(x) in the simplest form showing its domain where
3 Find n(x) in the simplest form showing its domain where
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, then find n(0)

2x + 6
x2%-2x
x2—x-2
12

3x — 4

xX243x+2

O s

4) Find n(x) in the simplest form showing its domain where
5) Find n(x) in the simplest form showing its domain where
6 Find n(x) in the simplest form showing its domain where
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SECOND TERM

#) Find n(x) in the simplest form showing the domain of n
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- then find f(0) , f(-1) if possible

2
2x—4x

_|_

12
12x%2-3

nx) =

where

)

n,(x) + n,(x) show the domain of n.

9) Find n(x) in the simplest form showing its domain where :

x2—x—2

x2=2x+4

_l_
x2 —4

x3+8
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Then find n(—2) if possible

x—2
4—x2

x+3
x2+x+1

x
x242x

O s

10) Find n(x) in the simplest form showing its domain where
X

17 Find n(x) in the simplest form showing its domain where
12 Find n(x) in the simplest form showing its domain where
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4x+24
36—x2

x2-12x+36
x2—-6x

x%+2x-3

19) Find n(x) in the simplest form showing its domain where
15) Find n(x) in the simplest form showing its domain where

x%-1

u]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
u]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
m]
u]
m]
u]
m]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
u]
0
W

x+1

x+3




DANININADADANIDNANADANINANADANADAL

d
|
|
|
|
9|
9|
9|
9|
9|
bl
9|
bl
9|
bl
9|
bl
9|
bl
9|
bl
9|
bl
9|
bl
sl
bl
sl
bl
9
bl
9
bl
3
3
3
9
al
9
al
9
a
9
al
9
al
d
d
d
J
d
J
d
a
d
d
d
d
d
d
d
d
d
d
d
d
g
a
g
a
g
a
g

1DANARANANANINANINANNANANANANANINANNANNANINANDANANANNANIRANANANNANINANDANANANANANADANADAL

xX—2
C x+7

x2-2x
x2—-x—-2

x2-3x+2
x2—49

T P o

x2—4

16) Find n(x) in the simplest form showing its domain where
x2+3x+2

17 Find n(x) in the simplest form showing its domain where
18) Find n(x) in the simplest form showing its domain where
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find n=1(x) in the simplest form

x3+3x2%4+2x
xX242x

x:+2x+ 4
x—3
x> +2x+ 4
x—3

x3-18

x3—8
showing the domain of n™1, then find n=1(=2) if it is possible

19) Find n(x) in the simplest form showing its domain where :
19) Find n(x) in the simplest form showing its domain where :
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20 If n(x)




20 If A and B are two events in the sample space of a random
experiment where P (A)=—,P(B)==,P(ANB)= —then

a) Find P (A U B) b) Fmd P (A — B)

: ¢) FindP (AU B) d) Find P (AN B)

| e) FindP (A") e) Find P (B’)

22) If A and B are two events in the sample space of a random
experiment where P (A)=0.7,P(B)=0.4 ,P(ANB)=0.2 then
" a) Find P (A U B) b) Find P (A — B)

| c) FindP(AUB) d) FindP (AN B)

e) FindP (A") e) Find P (B)

- 23) If A and B are two events of a random experiment where
P(A)== P(B) P(An B) = —then Find P (A U B)

O
O
O
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: 29 If A and B are two events in the sample space of a random i

experiment where P (A)=—,P(B)==,P(AUB) = —then

| a) Find P (A U B) b) Find P (A — B)
' ¢) FindP(AUB) d) FindP (AN B)
| e) FindP(AY) e) Find P (B)

: 256)If A and B are two mutually exclusive events of a random
experiment where P (A) =—, P (B) ==, then:

a)Find P (A U B)

b) Find the probability of non occurrence of A

- 26)If A and B are two mutuaIIy exclusive events of a random
experiment where P (A)=—, P (AU B) =-, then:
| a) Find P (B) a) Find P (A )




. 26) Choose the correct answer

D P(A) = 03, then probability of P(A)=.............

@1 & 0 ¢ % d) 0.7
2 P(A) = %, then probability of P(A')=...............

1 6 0 o2 d) =
: 7 10

| 3 P(A) = 30%, then probability of P(A")=...............

a1 6 0 e 70% d) 30%

%) If a regular dice is rolled once, then the probability of getting
2 an even NUMber = .o.ooeceveeeeeeeenne. :

@ ¢ 6) 0 ¢) 0.5 d) 0.3

8) If a regular dice is rolled once, then the probability of getting

2 an even nUMber = .....ccceeveevveennnen

»nY 6 0 oL d) 2
E 2 3

- 6) If A and B are two mutually exclusive events then P (A N B)

By 6 0 ¢) 0.5 d) 0.3

P IfACB, then P (AUB) =
a0 6 0 ¢ P(A) d) P(B)

8 IfACB,thenP (AN B) =

Y ® 0 OPA) ) P(B)

O

O

O

O

MRAMPR ALFEKY : 010 928 0 99 58 ;
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9) If aregular coin is tossed once, then the probability of
: getting head or tail =......cooeeveveennee.

@ 0% 6) 25 % ¢) 50 % d) 100%

70) If adieisrolled once, then the probability of getting an
: odd number and even number together =.........cccouvuene.e.

a) 1) 60 ¢ 1 d) 0.5

77) If a dieis rolled once, then the probability of getting an odd
: number or even number equals =........................

Bx ® 0 01 d) 0.5

72) If A and B are two events from the sample space of random
| experiment and if P (B)=0.7 and P (A)=0.2 ,AC B

| then P (AN B) =i,

@0 6 0.2 ¢) 0.7 d 1

13) If A and B are two events from the sample space of random
experiment and if P (B)=0.7and P (A)=0.2 ,ACB D
R A NVL:) e — :
@0 6 0.2 ¢) 0.7 d 1

7%) The set of zeroes of f : where f(x) = -3x is:
@) {0} 6) {-3} ¢) {-3,0} d R

15) The set of zeroes of the function f where f(x) = 2x?, is

| @ {0} OR — {0) OR—{2}  dR-{-1}




16) The set of zeroes of the function f where f(x) =x + 1, s

{0 OR — {0} OR — {—1) -1} |
| 17) The set of zeroes of f : where f(x) = x(x* — 2x + 1)is: |
{0, 1) ® {0, -1} ) {-1,0} d) {1}

®Ifz(f) = {2},  f(x) =x3-m , thenm=...
@ 2 6 2 ¢4 d) 8

1DIfz(f) = {5}, f(x) =x3-3x%4+a ,thena=......
@) -5 6 5 ¢) 50 d) -50

20)Ifz(f) ={1,-2} ,f(x) =x* + x + a,thena

@ -2 ® -1 e 1 d) 28

2D If n(x) = ﬁ then the domain of the function is .....
@ {0} 6R — {-5} OR — {7} AR — {-5,7}

23)If n(x) = Ty

a) {0} 6)R — {-5,3} IR — {7} AR — {5, -3}

- then the domain of the function is .....

29 1f ny(x) = ﬁ , Ny(x) = i—:;, then the common

domain of the two functions is ..................
a) {0} 6R — {—5} OR — {7} AR — {-5,7}

O

O

O

O

MRAMPR ALFEKY : 010 928 0 99 58 ;
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280 If ny(x) = ;C—J_ri , Ny(x) = i—: , then the common

| domain of the two functions is .................

@R OR — {—1} OR — {1,-3) DR — {—1,3}
5 x+2 x—1

| 20) If ny(x) = — M (x) = =t then the common

: domain of the two functions is ..................

@R OR — {—1} OR — {1}  dR-—{-1,-2}

: 29 If n(x) = % and the domain of the function is R — {—2}

. ® 3 0 2 d) -3
29 1f n(x) = i—;z then the domain of n™1(x)=..........
@R OR — {—3) OR — {3} AR —

29) The simplest form of the function f , where f(x) = 2xi+x
s
a)3x 6)2x* +1 ) x®+1 dx+1
i
. x . *-ﬁ. *4% N L
“dest Weshes
MR AMR ALFEKY

Qowesna, Monofia
070 928 0 99 68
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Al Basit in Mathematics

n Choose the correct answer from those given

BN} The S.S of the two equations: X + Y =0 , Y-5=01is ...

@ {5.,-5} ® {(5.,-5} © {(-5,9} @ (-5,5)

..................................................................................................................................................................................................................................................................... &
B3 The S.Sof thetwo equations: X -2y =1 ,3X+ Y =101is ...

@ {(5,2)} ® {(2,4)} © 1{@1,3)} @ {(3,1)}
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- .
EJ The twoequations:3Xx +5Y =0 ,5Xx -3Y =0 areintersectedin ... .

(@) First quadrant (b) Secondquadrant () Theoriginpoint (d) Fourth quadrant
..................................................................................................................................................................................................................................................................... @
E¥ TheS.S of the two equations: x =3 , ¥ =4 is

@ 13,49} ® {(4,3)} © R @ ¢
S PP R ——— - - PR ®
B3 The number of solutions of the two equations: X + ¥ =2 _, ¥ + X =3 togetheris ...

(@ zero (b 1 © 2 @ 3
0 N B LR BN B AN BRI RS E e Rnad sa e saa s sas s sas SRR s ARN A REEREREE IR 5 5 BB B R 8
I3 The two straight lines representing thetWoequations: 2X -y =4 ,2 x-3=Y are .

(@) Parallel (b) Coincident, = (c) Perpendicular (d) intersecting
5 e K A A A 0 I N £ 000 D0 B B MR B A R AR s b il v s s s s a aikpnena e B R R i B R B B W R R B B TR R B SR R R A AR A R R R @
The two straight lines representing the twoequations: 6 X -9y =15, 2x -3y =5are ...

(@) Parallel (b) Coincident (©) Perpendicular (d) intersecting
................................................................................ ; .._.....;“.-.....“..“.-...;..-.............................................................................................................................................................
K} If The two straight lines representing the two equations: X +3Y = 4 , X + a Y =7 are parallel

Then:a= ... .

@ 3 ® 2 © -3 @ -2
..................................................................................................................................................................................................................................................................... P
) If there is only one solution for the two equations: X +2¥ =1 ,2Xx + kY =2.

Then : k cannotequal ... .

@ 2 ® 3 © 4 @ -4
..................................................................................................................................................................................................................................................................... e

If the point of intersection of the two equations : X -3= 0, ¥ +2 k =5 lies on the fourth quadrant

Then : k maybeequal ... . ..

@ Zero @ 1 @ 2 @ Infinite numbers
#&
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If the point (9, 2) belong to the set of solutions of the equation: X - kY= 3,then:k= ... .

..................................................................................................................................................................................................................................................................... @
Two numbers their sum = 13 and their difference is 5 , then the two number are

(@ 7andé6 (b) 8and5 (©) 9and4 (d) 10and3
..................................................................................................................................................................................................................................................................... &
El Three years ago , ahmed's age was X years, then his age after S yearsis ... years

@ x+3 ® x+5 © x+8 @ x+2
..................................................................................................................................................................................................................................................................... &
EE If the age of ahmed now is X years, then his age 4 years ago is years

@ x+4 b x-4 © «x @ 4x
..................................................................................................................................................................................................................................................................... &
Ed Atwo-digit-number , ones digit is X and tens digit is ¥ , then the number is

@ x+10Y b Y+10x © =xYy @ x+Yy
..................................................................................................................................................................................................................................................................... e
The solution set of the equation: x> +4=0inR is ... _ |

@ 12} ® {2.-2} © {-2} @ ¢
........................................................................................................................................... e L T T T e T e TP CE PP PP E PP PEL TP
If the curve of the quadratic function f does notintersect X-axis at any points.

then the number of solution of the equation: f(X)=0inR is .. ..

@ A unique solution _ | @ An infinite solutions

(©) zero | One solution
.................................................................................... MR 5 s x o v s ae romn e SRR R R R ¢ o 1 o8 R R R RS A A RS A RSN NE RSN ERA R R ARt er Rt an s tnasnnssnnssananif])
EC] If the curve of the quadratic function f passesthrough the points (2,0) ,(0,-3),(3,0).

then the solution set of the equation : f rx)=o0mBRis.......

@ {2,-3} ® {2,3} © {2,3,-3} @ {-3}
..................................................................................................................................................................................................................................................................... ..
Pl If the curve of the quadratic function f has a minimum value at ¥ = 1.

then the solution set of the equation: f(x)=0inR is ...

@ {1} ® {-1} © R @ ¢
..................................................................................................................................................................................................................................................................... @
EZ1 The curve of the quadratic function f where f(x)=x2-6 x +9 ...

(@) Intersect X-axis in two points. (b) IntersectX-axis in one point.

(©) Does not intersect X-axis. (d) Passes through the origin point.
..................................................................................................................................................................................................................................................................... &
E#] If : x=3is one of the solutions of the function f : f(x)=x?-ax +3,Then:a =

@ 1 ® 2 © 3 @ 4
.................................................................................................................................................................................................................................................................... &

FE] The number of solutions of the equation: x?-3x -4 =0inN is ...

(@ =zero () 1 © 2 @ 3
—— 2 \—
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BZ] inthe equation: X2+ aXx +1 =0,if:ae]-2,2[, then the number of solution

of the equationin R is ...

F&H Two numbers, their sum = 9 and their multiplying is 20 , then the two number are

(@ 10and2 (b) 4and5 © -4and-5 (d) 8and1
26 1 X+Y=3and x2-y2=6,then: X -y =

@ 18 ® 9 © 3 @ 2
If: x2+y?=9and(x+¥)?=17,then: x -y =

(@ 16 (b) 8 c© 4 @ 2
] TheS.Softhetwoequations: X -y =0 , XYy =9inRx Ris &

@ {(0,0)} ® {(-3,-3)} @ 13, !)} @ {(3,3),(-3,-3)}
....................................................................................................................................................................................... - ..+.+++++++...
FZ] one of the solutions of the two equations: x -y =2 , *? +J-" =20 R x Ris

@ (-4,2) ® (2,-4) . (©). 3,1 @ (4,2)
................................................................................................................................... R - - - ORI . - - s 5 s 5 5585 588 8 B8 08 80 SRR E 48 SR E SR EE S E B AEERAE ERA R HRE S 5as Haa s nasnans snasaff)
Ell The set of zeroes of the function: [ : f(x)==-3Xx is

@ {o} ® {-3.--'nr} ,_ © {-3} @ R
Ef} The set of zeroes of the function: f : f ( I) 0 is .

@ {o} R-{o} © o @ R
EX The set of zeroes of the function V: f(x) = x(x%2-2x 4+1)is

@ {1} @ {o0,1} © {o,-1} @ {o}
..................................................................................................................................................................................................................................................................... é
B 1if:z(f) ={2}, f(x)=x? ythen:m= .

@ 1 (o) 2 o 4 @ 8
..................................................................................................................................................................................................................................................................... @
EQ If:z(f)={5}, f(x)= x3-3x%;a,then:a=

@ -5 ® 5 © -50 @ 50
..................................................................................................................................................................................................................................................................... Y
Eqd if:z2(f) =R, f(x)=(a-3)x+b-2,then:a+b=

@ 1 ® -1 © 5 @ -5

E The Domain of the function f: f(x)=x?-3X +2 is.......

@ R-{2,1} ® {2,1} © R @ R-{o}
e —— 3 | —
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Al GEBRA

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

El] The Domain of the algebraic functionn:n(x) = S

EE] If the Domain of the algebraic functionnis R-{2,3,4},then:n(3)= ... .
@ 2 (b 3 © 4 (d) Undefined
E0] If the Domain of the algebraic functionn:n(x) = X-2 s R ,then: a 0
@ = ® < © > @ <
2
The set of zeroes of the function [ : f(x) = xx __39 is
@ {3,-3} @® {3} © {o4 @ {-3}
. ‘ Y. 5X .
E¥] The common Domain of the two algebraic function : ., and X7o% is .
@ R-{o,1} ® R-{1} © /R-{0,7,-1} @ R-{1,-1}

L I T e T T e L G LI, M"Y T T I ImmTmTTTTmmmTTTOI IO, OO

||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

EX 1f the common Domain of the two algebraie function : —— S

ythen:a= ... 4
" \_ 4 © 3 @ 7

e L e R ........'..;;'h.h;..ﬁ!“'.'.'“..iﬁ .................................................................................................................................................................

Ax%.2x

X+1
X-1 1-X
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------- .
cie s . X-1
The additive inverse of the fraction 1:1:11(.?4?):_:[__'_3 y X #=-31is
X +1 1-Xx X+1 1-X
@ X +3 @ -(x+3) @ -(x +3)

Ef] The fraction n:n(x) = i_ - ;.l has an additive inversetoeach x &€ ... .

@ R-{4,7} ® R-{4} © R-{7} @ R

#_
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EE] If n:n(x) = i—;g , then the domainof n™ Yis ...

..................................................................................................................................................................................................................................................................... =
HinlX)= ﬁ , then the domain of n™Yis ...

@ o ® R-{-3,3} © R-{o} @ R
..................................................................................................................................................................................................................................................................... 9
EE] The multiplicative inverse of the fraction n: n(x) = x:.__a x X ; 3 is .

 § -1

@ = ® = © «x @ -x
..................................................................................................................................................................................................................................................................... "
E The fraction n:n(x) = i — g has an multiplicative inversetoeach x € ...

@ R-{4,7} ® R-{4} © R-{7} @ R
..................................................................................................................................................................................................................................................................... .
El If: n(x)= xxz_ 34 , then the domainofn~1(3) =

@ O o 1 O (d) Undefined
............................................................................................................................................. . R RREY = x s v o s s BRRERERRE R ln 1o 158 1888 580 80508000004 0RSSEESEONSInNaEratsatEratabatnantsatinatanasnsnnassnnssnsanif

. X-2 -1 . O
If: n(x)= e andn”*(x)=5,then: x=_

@ 2 b 8 | - © 13 @ 1

Find algebraically in R x R the snluﬁn set of each pair of the following equations

Bl 3x4+4y=24 2 WA =-2 {(4,3)}

g Find in

2x? .4 X + 1 = 0 (rounding the result to three decimal numbers) {0.293,1.707}
EJ x(x-1) =4 (rounding the result to three decimal numbers) {- 1562, 2.562}
............................ 4
El x- <= 4 (rounding the result to three decimal numbers) {- 0.828,4.828}
n ....... s _l_l(mundmtheresultmthreedemmalnumbers){33?223?2}
P- x = g n . ] -
(Xx- 3)2 - 5X = 0 (rounding the result to three decimal numbers) {0.890,10.110}

——————————————— 5 ——————————————————————
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n in each of the following Find n(x) in the simplest form showing the domain of each of them

3

2 3
X< -125 : X" -4X
ni{x)= 5 nix)= = -
(X)= 2 3x 10 H (%) x’-5x*46x
X X+4 X-6 X-5
n(x)=—"—— + = - H n(x)= +
x-4 X*-16 (%) 2x*-15%418 15-13%x 42"
2
2 2 :
X“+2X+4 9_-Xx : X -3X+2 3X -15
n(x)= 3 - - B n(x)= 7 v T2
X" -8 X“+X -6 1=X X -6X +5
2 2
X“-5Xx X“+3X+9 ;
n(x)= - then find n(1) and n(5
()= sx 13 x®-27 ' (1) (5)
x3_1 2X -2 -1, _X+3
n(x)= 3 X — ﬂ H(I)_ 5
X“=-2X+1 x“+x+1 x? —-x x? +X+1
2 2
X“+2X -3 X®=1 5 S | 2X -10
n(x) = =~ Bl n(x)= - B
X+3 xXx+1 - (x) x%.9 IE—G.'I+9

X2 -—49 @ X+7
5B ¥

n(x)= , then find n(1)

B Answer the following question

rrrrrrrrr

lllllllllll

=t
B8

—————————————— ) ——————————————————————
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If the Domain of the algebraic functionn: n(x) =—; X 8 is R-{3}, then.

X +ax+9
Find the value a.
.............................................................................................................................................................................................................................................. &

. . . X+ 2 .

If the Domain of the algebraic function n:: n(X) = — is R-{2,3}.

X +ax+b
Find the value a and b.
................................................................................................................................................................................................................................................ -

Iz xz 3X +2
-X -3X +
If:ni(x) = and na(x)= Prove that:ni1=n
1(x) x_zxf 12(X) P W W 1=N2

................................................................................................................................................................................................................................................ ...
If the set of zeros of the function f : f(x)=ax?+bx+15 is{3,5}
Find the value a and b.
................................................................................................................................................................................................................................................ -
A length of a rectangle is 3 cm. more than its width and its area is 28 cm. Find its perimeter.
................................................................................................................................................................................................................................................ -.

A right angled triangle in which the length of the hypotenuse = 13 cm.
and its perimeter = 30 cm. Find the area of the triangle.

Graph the function f : f(x) = x%- 6 x+5in the interval [0, 6], and from the graph and its
Find the solution set of the equation: X% -6 X+5=0.

‘A two—digit number , the sum of its digits is 11, if the two digits reversed , then the resulted
number is 27 more than the original number , what is the original number.

Two acute angles in a right-angled triangle , the difference between their measures =50° :
Find the measure of each angle. .

Find the value a and b , if (3, - 1) is the solution set of the two equations :
ax+by=5 and 3ax+by =17
mifeasicli njMAathematicSyAINeWEStanting
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n Choose the correct answer from those given

{(-5,5)} Bai{iG .} Bl Theoriginpoint [ {(3,4)}
B zero I3 Parallel Coincident El a=

El k=4 mk=3 gmlnfinitenumbers §k=3

9 and 4 m X +8 m X-4 X+10Y
i ¢ 3 zero @\ {23} m\ o

Intersect X-axis in one point 22 | E 1 m ZEero

B 4and5s mz 4 %m{(E,S).(-—E.-B)}
B (4,2) E {o} ER B {0,1}
33K - 50 @s ER

B R-{4,-4}  ER ED Undefided [0 >

i {-3} gmﬂﬁ-{ﬁ,l,-l} EB N m7
§2x-1 ml 47 % | %m]ﬁ-{’?}
| R-{2,-5} Bl R-{o} Bl = B R-{4,7}
E£] Undefined EA s

R x R the solution set of each pair of the following equations

B Find algebraically in

B2x-y=30 X+2Y=4 @ ) HE3x+4Y=24 @ X-2y=-2 @
Multiply the two sides of equation (1) by 2 - Multiply the two sides of equation 2) by 2
Weget: 4 X -2Y =6 ' @ Weget: 2X -4Y =-4 ©)
adding @ + @ 4X-27=6 @ adding @ + @© 2Xx-49=-4

x f20, =40V 3IX+4Y =24 @
. 5x=10 5 X=2 ] S 5X=20 L X=4
By substituting in (2) VZ+2y=4 By substituting in (1) S3x4+4Y =24
2y =4-2=2 Ly =1 . 4y +12=24 S 4y =24-12=12
~8.8={(2,1)} . Ly=3 . 8.8={(4,3)}
ﬂ31'+2y=11® 2X +3yY =14 ®n%+%=%@ ;+2Ty=1 @
Multiply the two sides of equation () by 3 Multiply the two sides of equation (1) by 10
Weget:9X +6)Y =33 ® Weget:2X +4Y =4 @
Multiply the two sides of equation () by - 2 Multiply the two sides of equation (2) by - 6
Weget:-4X -6)Y =-28 @ Weget:-3X -4y =-12 @)
adding @) + @ 9X +6% =133 ©) adding @ + @ 2X +4YV =4 ©)
-4X -6y =-28 @ _3X-4¥ =-6 @
S5X =5 S X =1 LR * X =9
By substituting in (U S3+2)Y =11 By substituting in @ S4+4Y =4
>.2Y=11-3=8 S Y =4 4y =4-4=0 L Y=0
~.88={(1,4)} - ~ss={(2,0)}

———————————— . ————————————————————————
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» B x+y=70 V2e Him7 @
: Fromeq() X +Y =7 Weget Y=7-X @

By substitutingin @ -, (7-x)2-x2=7

S 49-14x +x2-x2=7

S =-14X +49-7=0

So-14X +42=0 .. -14X =-42

. X =3

H x-y=10 xtiyt=125
Fromeq() X-Y =1 Weget X=1+Y ©
By substitutingin® . (1+¥)%2+y%2=25
L1+2Y+Y24 y2=125
L 2Y242Y 4+1-25=0
~2y242y-24=0 divideboth sides by 2

2 .
LY +Y-12=0 -~ (¥-3)(¥+4)=0 By substituting in 3)
S.¥Y=3 or Y=-4 At: X =3 S yYy=7-3=4
By substituting in 3 ~.88={(3,4)}
At: ¥y =3 L X=14+3=4
At: Yy =-4 5 Xm14(-4) =9
.'.S.S={(“31—4)|(413)}
5 =9 ® S @
Hy-x=30 x%:y?2-xy=13 @ H x+y=2 Xty =2
Fromeq(D) Y -X=3 Weget Y=3+X Multiply the two sides of equation 2) by X ¥
By substituting in 2 Wegets Y+ X =2X)Y ©
Lx24(3+x)°-x(3+x)=13 Fromeq() Y+ X =2 Weget Yy =2-X G
X%4946x4+x%-3x-x%-13=0 . By substitutingin ©
LX%43x-4=0 . (x-1)(x+4)=0 O 2X(2-X) .. 2=4XxX-2x"
LX=1 or X=-4 5 2X2.4X +2=0 divideboth sides by 2
By substituting in &) X2 9x4+1=0 ~(x-1)?2=0
At: X =1 X Yy=3p1=d N N
At: X =-4 o5 y=1+(""4)="'1 BYSUbStitl]tiﬂgiﬂ@
.'.S.S:{(——‘l,—l),(l,d:)} At: X =1 S Yy=2=1=1
B Find in R the solution set of each of the following equations using the general formula
2 _
a=2,b=-4and c=1 a=1,b=-1and ¢c=-4
2
- in—4 ' y— i
. b ac=4:J16 4x2x1 —btJbz-fiuc P e g o
2a T 2x2 x = 2 a = 2x1
4+,8 4+8
, LX=— 1.707 _ 1z o g VEVIT s
4-F i 2
s = 1-.17
or X 2 0.293 or X= 2 =-1.562
:.8.8=1{1.707, 0.293}  ss={-1562,2562}
X i_4 Itiply both sides by X n iu-l—l Multiply both sides by X2
El x-= Multiply both sides by X2 x= ply y
2x2_g=ax ; x2-4ax-4a=0 . . 8-x=x2 -~ x24x-8=0
a=1,b=-4and c=-4 a=1,b=1and c=-8
Complete by yourself Complete by yourself
B (x-3)2-5x = X2 6Xx4+9-5Xx=0 sx2-11x+9=0

a=1,b=-11and c=9

Complete by yourself

———————————— 2 ————————————————————————
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n in each of the following Find n(x) in the simplest form showing the domain of each of them

~ x2_25  (x-5)(x+5) . x}_ax  x(x-2)(x43)
Bl n(xX)= = G -5)(x +2) gn“(x)‘ x3-5x%16x X(Xx-3)(x-2)
. Domain=R - {5, -2} ~. Domain=R-{0,3,2}
n(x)= F=B)(X +5) (X +5) n(x)= = XEC2)(x+2) (X +2)
: (X -5)(x +2)  (x +2) ' - T 2(x-3)(x<2) (x-3)
X X +4 _ x-6 x-5
Bl n(x) = x-4  x7_16 §n M) = X tsx 18 T 5oi3x v207
X X +4 _ X-6 i X-5
T x-a  (x-D(x+9) (2x-3)(x-6) = (2x-3)(x -5)
-. Domain=R-{4, - 4} *. Domain=R-{s, 313
x X 44 _ X ~6 X ~5
(X) =373+ GooGEeD N E s)(zr/e) MEEIEES
=xx4"'x14 g_i}). =2x 3t zx 3= 2x-3

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

2 Y .9
242X 44 9-x ; 2 x 4 2 3Xx - 15
ni{x)= = — nix )= -
El n(x) = s Eﬂ (x) - S
__ x’4+2x+4 X9 @Gy | 3(x-5)
(x-2)(x?+2x+4) (2x-3)(x-5) | “(x2-1) ) (x-5)(x-1)

: oY) | (xS (x-1)
I i X e e TEANG D ()

. Domain=R-{2, -3} B2 x-1 (x-1)(x-2)

' 1 X-3 Xx-=-2 E,H(I)_=x—1+ g =
n(x)._.-xzusxxz-l_-gx-;.; .................. : ..................................................................................................................................
X = g X 1S X2 - 27
xX(x<5) x? 4 B +°

“(x-3)(x~%) T (x~3)(x2+3% % 9)

. Domain = R - {3 ,5} complete by yourself

x 17 xia
() =33+ x-357-3

‘*1€Domain ..n(1)= %"’—;_-2

*S@€Domain ..n (5)undefined

B Answer the following question

EJ -domain=R-{3} ~X24aXx+9=0 at X =3 substituting by 3 in the denominator

L 94+3a+9=0 3a=-18 S a=-
0 e 005 5 e e e B R S S e R e S B  ERSA A ERERS "
Bl - domain=R-{2,3}

#X?4ax+b=0 at X =2and3

substituting by 2 in the denominator .. 4+2a+b=0 SL2a+b=-4 @

substituting by 3 in the denominator .. 9+3a+b=0 S.3a+b=-9 @

Multiply the two sides of equation (1) by - 1 Weget: -2a-b= 4 ©

adding @ + @ Weget: a=-5 By substitutingin () .. b=6
........................................................................................................................................................................................................................................................... &
El ni(x)= xf:zif = ;i((xxﬂ_lz)) = ;(xx___lg) anditsdomain=R-{0,2} @
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Geometry

Final Revision

x2-3x+2 (x-1)(x-2) (x-1)
x3-4x?2i4x x(x-2)(x-2) x(x-2)

,I]]_(I):

From() and @ ..ni1=n32

and its domain=R-{0,2} ®

TS T ™™™ MM, T T, T T T T T T, oI T oL T oI T ]

v z(f)=1{3,5}

s f(3)=0 . 9a+3b+15=0 9a+3b=-15 ®

F(5)=0 5. 25a4+5b+15=0 ;.25a+5b=-15 @
Multiply the two sides of equation (1) by - 5 Weget: -45a-15b= 75 @
Multiply the two sides of equation (2) by 3 Weget: 75a+15b= - 45 @
adding @ + @ Weget: 30 a=30 S.a=

By substitutingin @) ..b=-8

~ttrryr ™ "™™"M™M "Mm®MmM™ MM M ™ MmMTMmMmnTTMTTTMTMTMTMTMTMTMTMTMTMMMTMTMMTMTMTMTMTMTMTMTMTMTMTMTMTMTMMMMT T T TMTMTMT T T T T T T T T ™ T™T™ T ™ ™MmMMMMMMM MMM M fTMfMfMTMTMTMTMfMTMTMM MMM MTMTMTI MM MMM MM MTMT T I UMM M M M T I MM I I M M M M MMM I T MMM T -..

' letlength = X and width =y
A length of a rectangle is 3 cm. more than its width means: x-y=3 @

area is 28 cm’ means: Xy =28 @
solve the two equations fogether by yourself x =7and y =3

TS LT, T T  § @ @@ ¢ThThThMMMMhMhhMhMhMtTThTTMmTmTrTTMmmMmMMmM MM M T MMM MM mImm T MM I T I I T TTmTm T IIImIITmTTTIII T ITTTTIITITITTTTT, eeee T oInIImmmmmmnmnmmmnmnmImmnmInhf’nhf’hf "D T M Immnm MM I T I T T ITIImTmm IITTIITTITTm -..

. let the lengths of the two sides of the right-angle are X and ¥

the length of the hypotenuse = 13 cm. | = Xx24y%2=169 @
perimeter=30cm. == X +Y+13=30 | = X+¥Y=17 @
solve the two equations together by yourself x =12and y =5
0 B B B BB DR RS RS R AR b aarbnsrnaa g s naannnn s nes s g 5 o o 0 o RN o o o 4 o 0 000000 0000 B B B0 B AN BB BB BB R -9
try yourself
....................................u..............“..“............................................,..........."...‘..........'..........,......;..;....' ......................................................................................................... -
' let the digit of ones is X and the digit of tensis ¥y then : the number is x + 10y
the sum of its digits is 11 _ | = X+¥=11 @
if the two digits reversed (¥ + 10 x) , then the resulted number is 27 more than the original number
(y +10x) - (x +10}’-5)=27 == 9X - 9y = 27 divide both sides by 9 = X-Yy=3 @
solve the nﬁn equations together by yourself x =7andy =4
B e T, — a
'’ let the measures of the two angles are X and ¥
Two acute angles in a right-angled triangle = X+Y=90 ®
the difference between their measures = 50° = X-Y=50 @
solve the two equations together by yourself x =70and ¥y =20
.......................................................................................................................................................................................................................................................... -
"+ (3,-1) is the solution set of the equation:ax + by =5 s3a-b=5 ®
> (3,-1) is the solution set of the equation:3ax + by =17 s.9a-b=17 @
Multiply the two sides of equation (1) by - 1 Weget: -3a+ b= -5 3@
adding @ + @ Weget: 6 a =12 Sa=2

————————————— A ————————————————————————
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3I’d prep Final revision secoxpTeru
I Al gebra

(1)Choose the correct answer:

(1) If A and B are two events i
experiment where A'c

andom

(a) P (B) (d) &
(2) 1fx?2 — y2=1

(a) —5 (d) 5
B) (=1 +(

(a) — 2 (d) 2

2 - x is
- | -

(c) {2} (d) @

om the

(4) The set of zeroes of the

tion

(a) {7} (b) {2,

(5) If x is a negative number
following numbers is .........

 (c) =

(@) 5 — x (b) 5/+ x d) 5x

(6) The function f her. f ( < : @ has a multipliégtive

inverse if its domainjis ....\. ...

(a) R (b) R —
— (2,5} |

(d) R

R — (2}

(7) The point of the intgfsegtionaf the two straight lines:

— =]

(a) (4, 3) M( -4, 3i H( -3, I) (](3,4)

B EPERELEPELEPEPEREDEPEREPEPER EP EPEREPEPEREPEPEREP EPEREPEPEREP ELEREPELEPEPELEPELEREPELERELELEY
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IN
(8) In the opposite fig e represents 5
The curve of a quadrati¢ function f 4

Then the solution set
of the equation f (x

(a) @ d){(0,1)}

abili

(9) If a regular die is tossed on vearance of

a number less than 3 equals .4.

€p

1 14 2
(10) The set of zeroes nf;él"' (& x> +

(a){3, -3} ®) & [\ @3 (-3}
(11) If the two equations ;,g; 4y = Taﬂ' 3x+ ky have
infinite number of s Iutln sinfR x R 2N K = ...y

(a) 4 (b) 7 (9420 ()21
(12)1fy -3=8, >

1 : ""*.".’. d
(@) =55 ( )—

Mr thaled
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(13) [ 2, 5] is the solution set of the inequality ..............
(o) 153 ~1 54 (b) 1<x —1<4
c) 1<x —1<4 di<x —1<4
(14) If a die is rolled oncethenrtie-probabilityef-gei{ing an odd

number and even number

: d) 1
(a) =3 (d)
(15) /27 — &/ —
(a) 6 (d) —6
(16) The number ofiso | - %y =4
2x— y =2inR?=].......] |
(a) 1 b) 2 jite number (d) zero
(17) The domain of the algebrz actio — the domain
of the algebraic fraciion ...... Y .. '
a
xt +1
(18) The ordered pdir w lu atisf es the/two equatic
Xy=2andf— y =1 pis .cocoeenennn. :
- 1
(19) If n (=

Mr. i\haled
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W %
g g
W (@) R (b) R — (2] (¢) R — {0} (d) R W
W _(0,2) ol
W ’ i
g (20) The probability of the impossible event equals .......... E
W (a) zero (b) & (c) 1 (d) S t
i _ . ﬂ?‘f
o (21) The solution set of the two equations: : x + 2y =0 and 2x — 3 &
W y =0inRXRIis ... | i
“Ljf (@) {(-2,0)} ) { -- (d){(2,3)} ﬁZj”
Y @2)r27x 37 = GA, themk = ... 1 :
@1 (d)5 v
%ﬁi (23) The degree of the@ polynd E
f =% +2x W
¥ 7
W (a) fourth b) ti (d) zero 4
W i
N (24) If x + y =4 antl X— y = thg y2= .............. N
g (a) 8 b) 12 (d) — 12 g
i (29) The set of zeroes of thefynct B v o
o i
¥ @{-2,1} (b R A2 (d) {1} :
4 (26) IfP (A)=4P (4'), th€n P (A)\= ....... ... | 7
o (a) 0.8 (b) 0.6 (d) 0.2 &
Yo (1 ! ¥
v:iﬁ ( ) If}{: y + 1 ’ y Ly Gﬁﬂ
f - W
2 (a) 3 (B) 4 (c) 3 (d) 2 e
W W
o - 4
47 (28) The set of zerg here:f (X)= — 3 X I8 .8iciviininsevens 2
4 > 4
o (a) {0} —3 4\ (d) R &
W , ot
g A\ g
ORI r R N A Gl U R v G A r O A A A O AR A G i A G
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(29) If A, B are two events from the sample of a random experiment,

P(A)=0.7and P(A — B)=0.5,thenP(ANB)=........
(a) 0.6 (b) 04 (c) 0.3 (d) 0.2

30) If the two strai""’t li"_ 3quations:
(30) J
x+2y=4 , 2x =?f'é

(a) 7 b

(c) 4

_ s 7 .
(31) The common dk« 2 two fra'-.l;.l___ 1S T L
(@) R (b) R (d) R
(32) The two straight lines: are intersecting in ........
(a) (4, 3) (b) (0, 0) c) 4) (=3 —#
(33) If X, Y are two mutually & 5f sample Space of a
random experiment , then P(X'N Y)T5, .....
(a) § (b) zero/ &
(34) The two equatic >ns of firs’t"':{i ree inwo v h have an
infinite number of s« Iutln S arg represent: ed by two strdight lines
those are . ..
(a) parallel (k ing“ (c) dlstance . coincident
(35) If f (x) = 5~ - X € Ry— {7, — 7 Jthen ff 2 -
(@) — : (d)
a ——
f(=2) ) f(2) F(=2)

(36) If the sum of two numbers is 8 , and their praduct is 15, then the

““"Mr. Khaled
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(a) 2,6 (b) 3,5 (c)4,4 (d)1,15

(37) If a die is tossed once, then the probability of appearance of an

odd numberis ............ /..
1 1
(a) - (b) (c) 1 (d) 3

(38) The simplest of

(a) 3 (b)

(39) In equation: a
equation has .........5.

(a) 1 (b) cerdi /' (d) infinite

(40)1f3 x =1, thén —

3
(a) = (b)

(41) /64 + 36 =8+ .........
(a) 2 (b) 6
en A

(42) If 4 is a cumplement en
(a) & (b) A (c) sampl
(43) 37 +37+37 = }..... .
(a9’ (8) 34 i

(44) If A and B are fwo ever
experiment and P(A)= 04

1 of A h

spac

(©) 27/

rom the sample af 5
B )u 0.5, them

(a) 0.4 -
(45) The tW g

M, Khated

8

andom

(d) 0.1

(AnB)— .......

B EPEREL EPEREPEPEREPEPEREP EPEREP EPEREPEPEREPEPEREP EPEREPEPEREP EPEREPELEPEPELEPELEREPELERELELEY
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(c) intersect and non-perpendicular (d) parallel
(46) If (5,A —4)=(B+2, 3),thenA+B=.............

(a) 2 (b) 3] (c) 10 (d)5
(47) The multiplicativelidentity in Z is ...............

(a) zero (b)f_-‘-l_ \

(48) The arithmetic m

(a) 4 (d) 8
(49) If z (f) = {3} ,

(a) zero (d) 3
(50)If x —3=0

(a) -3 (b) (d) 9

(51) (99)%> —1=.§..........
(a) 9800 (b) 10000 (98)2

etY ,Kh tl

(d) 9900

(92) If the function f is a funct
domain of the function is ... ... ....!

(a) X (b) Y _

the

)Y x X

L (

2
the number

(53) The multiplicative inverse o

= A : 3 2
(@) —— = - Akl (d) L
(54) 8 — \Z=..0.... 7
(a) \/6 b) /A0 = (e)y2 7 | (d)4
(54) If (x — 5)% for everyae—........
(@ R 5" (d) R —{—1)

Mr. Kha led
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(595) If the curve of the function f(x) = x* — a passing through the
point(2,0),thena=..........

(a) 4 (b) 7 (c) 9 (d) 16
(56) If the point (5, b 4+ 7) lies on the x-axis ,thenb = ..........

(a) 2 (b) 3\ c)5 (d) 7

I )

Answer the following questionst
b A\ |

(1) Findin R X R the set of the followihg-f__‘_" o equations

simultaneously

x —2y=\{

ofution set of the
ating the resuit to the

ato
0 af

(2) Using the general fo
equation: x? 22 x
nearest one decimal plc

owingthe domain of\n where:

(3) Find n (x) in the simplest for
x2+2x +1 k. A — 4
2x — B % 1

n(x) =

X

(4) If A and B are two eyents sample spaceTor a fat
experiment , P(A) =0.6 [P (B)=0.5|and P (A NE
Find: \ B . |

(1) P(AUB (2)/P (AB) ~ (3) P(B)

e

om
0.3, then

X
(5) Ifnx)=—+F

0 | e domain

" Mr. Khaled
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(x) xt+ 2x that
n- (x) = , prove that : n, =
- x + 4x + 4 a '

n;

6) If n,(x)=

2x + 4

(7) Find n (x) in the simplest form showing the domain of n where:

(x) x: — 2x — 1588 B
Nnix) = —
xz — 9 _ "tr !
(8) Findin RxR the soluti wing two equations
graphically: ‘ "’a

2Xx

(9) A box contains
card was dra

d fyom# to 30 and a
ra

Calculate the prob:2 3t the number 2h the drawn card is :

(1) Divided by 4 2) Abrime number

(10) By using a general rule }
x*+7 x + 2 =zero , ap}
tenth

e solution of the equation:
the re he nearest

(11) If A, B are two events/in arandot
P(A)=0.7 , P (B)/= 06 P(A -
Calculate the value of: '

(1) P (4)
(2) P (A -B)
(3) P (A UB)

(12) Solve in R the gq
rule , knowing

Mr. Khaled

:%€=3 x + 1 = ze»o by using the general
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(13) If the domain of the function f,where f (x) = is

R —{2,c}, thenthe valueof : mandc

(14)

Find the values ofa,b k
equations: X

owin g that (1 is the solution of the two

(15) Find the numbgRwhichlis igits/Jif the units
digit is twice th . dia ; of :

1 \
equals T the ©

(16) Find n (x) in the sim ving the domain of n where:

IZ—I

. |

n(x)=

6
(17) If the domain of the fu Ztion —
IsR —{2} ,n(5)=8/ /Fi nd the val
2 — |4
(17)1f nq(x)= = prove that

n1(x) = n, (x) for thevalues of x which belong to ... comain

and find the domain

(18) IF A 2

experlmMre P(B)S *(A U B)I I

e nf a random

- [ L)
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Find P (A) in each of the following cases:
(1) A and B mutually exclusive
(2) BcCA

(19) Find in R X R algebraically the solution set of two equations:

x—y: and2x2—y2:4

(20) A two digit nu
are reversed, t

he two digits
an the origin

(21) If £ (x) = 3::: ' | | | 4 Jtilen Find £ (x) in

the simplest farm ¢ ' Ty 1 ' /i
then Find £ (0)Lf (

(22) Find in R the solution se — 4=0
approximate to the neares
(23) Draw the function curyé fwheref(x) = — 24 + in the

Find:
2X

the \drawin
e egpation

interval[—-1, 3] frc
The solution set of t

(24) A bag containg|21 symmetric balls, & | white , 6 reg

black, one balljwas d rawn randomly/, Find the p ablllty that it

was. ‘--'r . )
(1) White (2) Not black (3) F %d or black
(25) Find thes “domz ) be equal such that:

Mr. i’\h IEd

ind the rest is
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Iz dzdzd=dzdzdzdzdzdzdzdzdzdzdedzdz dedzdzdadadaz dedzdzdzdzdedadadadadadzdzdz dadz iz dedadade dadzdad=dz
o= -
=

W
x%2 — 3x 4+ 2

W
y Mo (x)

W
x* + 3x + 2

‘Gﬁ :

o
n4 (x)

32
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